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1
Bots, Inc.

In this chapter we describe the environment of the robots, their behavior and capacities. We show how
simple scripts can be defined using the environment and how they can be turned into methods as shown in
Chapter??.

1 The Robot’s World

The world of our robots is an area composed of different kind of tiles as shown by the first figure of this
chapter.
o Blue tiles represent the ground. Robots can freely walk on them.

o Red tiles represent ttetarting place This is on this tile that new robots appear. There is one and only
one red tile per area. When you will be defining new areas you should always specify a starting place.

o Black, yellow, magenta, and green tiles are just painted ground tiles. However the robots have sensors
to know if they are on of such tiles.

o Painted tiles (blue, red, black, yellow, and green) can contain diamonds and robots can drop diamonds
on them.

o Light brown tiles represent bricks. Robots are blocked by bricks and therefore cannot walk on them.
A robot has sensors that indicates it whether it is facing a wall.

A robot can walk and drop diamonds on all the tiles except the bricks. It cannot walk outside the world
limits.
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8 Bots, Inc.
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Figure 1.1: The flap containing the environment and the tools to program the robots.

2 Getting Started

To create a robot world grab and place on the Squeak desktop the first thumbnail of the orange flap named
Bot World as shown by the Figure 1.1) or execute the script 1.1 in a workspace.

Script 1.1 (Opening the World of Bot)

BotWorldBoard newStandAlone openinWorld

You should obtain an environment similar to the one displayed in the first figure of the chapter. The
bottom button bar allows you to access the functionality of this environment as shown by the Figure 1.2.

&dd Bot  Conftroller  Restart © Pick Area  (uit
Figure 1.2: The functionality of the bot environment.

The Bot World window has the following buttons from left to right:

o Add Bot. Add a new robot in the current area. Once this button pressed the user is asked to give a
name for the newly created bot. This name is also used as a variable to send messages to the robot
using a robot Controller (see Figure 1.8). A robot appears on the starting place (the red tile) of the
board.

o Controller. Open a robot Controller,e., a dedicated workspace in which we can send messages to
the robots by using their names (see Figures 1.4 and 1.8).

o Restart. To reset the area but without changing the bots that are already created.
o Pick Area. To select a new area among the list of all the areas defined.
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Five a new fame for your bot
[

wnleft _ North turnRight

West East

South

Figure 1.3: Giving a name to a new robot and getting a new robot on the starting place.

x Bot Controller HO

Figure 1.4: Opening a bot controller by pressing the button 'Controller’.

o Quit. To quit and close the playing board.

3 Robot Behavior

A robot is always on one tile and can only move from one tile to another one. Note that each tile has a
location and that you can see the bot location by moving the mouse on the bot and waiting for a balloon to
show up as shown in Figure 1.6. A bot can only move forward and turn in four directions as shown by the
Figure 1.5 but we will show how to define more advanced operations such as moving back in the future.

A robot understand the following messages:

o go. Inresponse to this message, the receiver moves by one tile in the direction in which it is pointing
at. What isreally important is that we do not want to damage our robot by making it crashing into a
wall. Therefore you have check using the metikadMoveForward if the move is possible as we
will show later.
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10 Bots, Inc.

turnLeft North turnRight

West East

South

Figure 1.5: Possible robot movements.

o turnLeft andturnRight . Inresponse the receiver changes its direction to the left or right relative
of the current direction.

o north , south , east , andwest . In respond the receiver changes its direction to point to the
corresponding directions.

Figure 1.6: Displaying some information relative to a bot.

As we mentioned it, a robot should not bumped into a wall, else an error occusrs as shown by the
Figure 1.7. A correct program should never such a kind of errors. Similarly, when a robot picks a diamond
or drop one, it should check if it can do it. The following chapter explain how this can be done using
conditional. When such an error occurs just close the window by clicking on the cross at the left top corner
of the window.

Teacher’s Corner
It can be annoying to let the robots making noise while moving. You can indicate that all the

robots have to move silently by executing the expresBion silent . Read the Chapter 4
to have more information.

Teacher’s Corner

A robot has several sensors. The following messages to check their status:

o canMoveForward , canMoveLeft , andcanMoveRight return whether the bot can move for-
ward, left, or right.
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Figure 1.7: When a robot bumped into a wall.

o isOnBlack ,isOnMagenta ,isOnGreen ,isOnYellow ,andisOnRed return whether the bot
is on a colored tile of the given color.

o canPick returns whether the robot is above a diamond@artDrop returns whether the the robot
can drop a diamond.

o isAtHome returns whether the bot at the starting place.

The Figure 1.6 shows that you can get some information on a bot by letting the mouse over it to get a
balloon.
A robot can pick or drop diamonds executing the following methods:

o pick picks up a diamond. Again you will have to pay attention using the metlaodick that
before picking a diamond that there is effectively one. The meghickl raises an error when there
is no diamond.

o drop drops a diamond on the current location if the robot has still one diamond, else it raises an error.
The methocdtanDrop indicates wether you can drop a diamond.

o diamNumber returns the number of diamonds that a robot is carrying. Note that you can also load a
robot with a number of diamonds using the methmadWith:  aninteger

Note that a robot can walk on tiles containing diamonds without problems.

Finally a robot can painttiles. Ask a robot to paint a tile of a given color using the megssig&Sreen
paintBlue , paintYellow , paintMagenta , andpaintBlack . Note that the starting place and
bricks cannot be painted.

Teacher’s Corner
The design of the robot behavior forces robot programmers to make tests for picking and drop-
ping a diamond or before moving forward. We designed it especially to have this behavior.
However, if you do not want to have the students testing for example before dropping a dia-
mond. As explained in the chapter 4 you just have to define the metife®rop defined
in the clasBot as follows:

Method 1.1

Bot>>safeDrop

self canDrop
ifTrue: [self drop]

Teacher’s Corner

4 First Scripts and Methods

Using a Bot Controller we can send messages to a bot using its name. There is no need to declare a variable
to refer to the bot and to initialize it as we were used to do with the turtle. This is because a Bot Controller
is a special tool that automatically declares as variables all the robots defined in a given playing area.
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12 Bots, Inc.

e Bot Controller mo

b2 east; go.
b2 north; go.
b2 west; go.
bd canPickDiamond
ifTrue: [b2 pickDiamond]

Figure 1.8: Steering a robot by sending it messages.

Select the area namedlea02 to have more space, create a robot, nani® jtand try the following
script (script 1.2):

Script 1.2 (A Simple Script)

b2 west.
b2 go

Note that the script 1.2 can be expressed using cascamlavoid to repeat unnecessary the receiver as
shown by the script 1.3.

Script 1.3 (A Simple Script using a Cascade)

b2 west ; go

Hints... A Bot Controller allows you to execute only one single line if you position the cursor on it and
select the menu itemo it or command d. If you want to execute a script composed of multiple lines select
them first.

For example the Figure 1.8 defines some scripts to steer the?bdtlote that the variable2 in the
script refers to the robot we created and narb2d

Some Steering Exercises

Here is a list of exercises you can try to get used to bot programming. Pick the areaar@a2dto have
more place to play and define the following scripts.
o Define a script that makes a robot walk 5 tiles in its current direction without taking care of bricks.
o Define a script that makes a robot turn east and walk 5 tiles in its current direction.
o Define a script that makes a robot walk a square of 6 tiles.

& MicroBrowser iz a

simplified trowser that
allows you to view the code
and define new methods of

only one claszz, here the =
clazs Bot ot W ld Editor

R Microbrowser

Figure 1.9: Drag and drop the thumbnail of the micro browser to open it.
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Defining Methods

In a similar fashion that you defined methods for the turtles (see Chaptgou can define new methods

for the robots using a dedicated code browser. To open such a code browser, drag its thumbnail from the
orange flaps as shown in Figure 1.9 or execute the following exprel8aoBrowser browseBot

You should obtain a micro browser as shown by the Figure 1.10. Note that the window title by containing
the word 'Bot’ indicates that you will be defining methods for the robots.

X Micro Erowser: Bot Ho
accessing = =
diamonds

drawing = -
Enter yvour method in the following way =

method name with arguments
"comment of the method”

body of the method

Don't forget to use self to refer to the receiver

Figure 1.10: A micro browser to define bot behavior.

You can create a category named for exangiaple methods for your methods. Define the
methodfiveSteps  that is defined as follows:

Method 1.2

In category simple methods
fiveSteps

5 timesRepeat: [self go]

Figure 1.11: Two shapes.

With the assumptions that there is no brick, that the robot is in the middle of the world, and that it has
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14 Bots, Inc.

enough diamonds to drop on the floor (Use the metbhadDiams: to charge it with enough diamonds),
define the following:

o Define a script that makes the bot draw the left square of diamonds shown in Figure 1.11.

o Define a script that makes the bot draw the right square of diamonds shown in Figure 1.11.

o Define a script that makes a triangle of diamonds as shown by the Figure 1.12.

Figure 1.12: A triangle of diamonds.

5 Creating and Editing Bot's Areas

The bot environment allows you to define your own areas using a dedicated editor. To get the editor drag
and drop the thumbnail nam&mbt World Editor from the orange flap or execute the following expression
BotWorldBoardEditor newStandAlone openinWorld

Once executed this script opens a blue window having the bar of buttons shown in Figure 1.13.

The Bot World Editor has from the left to right the buttons.

o Open Tile Pane.To open a pane with all the tiles that can be placed on an area.
o Empty. To empty the current area.

o Pick Area. To select one of the areas already defined.

o Area Named. To select one of the areas using its name.

o Save Area.To save the current area.

To add a tile, click on the wished tile in the pane containing the tiles or on a tile already present in the
area and drop the tile at the wished location. If you want to delete a tile just pressed shift while clicking on
the tile.

Now we get ready to try further topics such as how to program our robots.

6 Summary

You should now be able to open an robot environment, create some robots, steer them using the Bot Con-
troller, and define new methods. The basic set of operations that a robot can exegottuisiLeft
turnRight ,north ,south ,east ,west ,pick ,drop ,loadDiams: aninteger , diamNumber ,
paintBlue ,paintYellow ,paintGreen ,paintBlack , andpaintMagenta

In addition to this a robot has several sensors that we will use in the following cheatdtoveForward
canMoveleft ,canMoveRightisOnBlack ,isOnGreen ,isOnYellow ,isAtHome ,isOnMagenta |,
canPick , andisAtHome .
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Open Tile Pane  Empty  Pick Area Area Named Save Area

Figure 1.13: The actions proposed by the Bot World Editor and the tile pane.
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2

Learning Conditions
with Bot

Up until now all the programs we defined were executitigthe messages they contained one after the
other. There was no way to describe that certain messages have to only be executed when certain conditions
were true. In this chapter and the following one we will introduce an important programming concept: the
notion of conditional execution.e., the fact a certain piece of code is executed under a given condition.

We start by defining a simple example that shows the need of conditional execution, in short conditional,
then we present in detail the conditional expression offered by Squeak.

1 A Simple Example

For this exercise we suggest you to pick the second area as shown in the Figure 2.1. This will help you to
understand and compare the results of your script with the one we describe.

Figure 2.1: Part of the area namaa02

A Small Problem. We would like that while a robot is moving it picks a diamahgbossiblej.e,, if there
is a diamond on the tile where the robot stands. This problem requaesditionalexecution,.e,when
there is a diamond the robot should pick it, when there is no diamond it should continue its way and do not
try to pick the diamond.

The script 2.1 shows a solution and the Figure 2.2 shows the effect of executing this script 3 times in a
row.

Script 2.1 (Picking diamonds)

b2 east.
b2 canPick

ifTrue: [b2 pick].
b2 go
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18 Learning Conditions with Bot

Figure 2.2: Result of applying 3 times the script 2.1

Let us analyze now what happened.

1. We asked the robot to face the east.

2. Then with the expressido2 canPick ifTrue: [p2 pick] we asked the robot to check
whether it could pick a diamond arifd this was the case to pick the diamond. This expression is a
conditional expression.

A conditional expression is composed of two partsoaditionandconditional messagess shown
by the Figure 2.3. The expressib@ canPick is a condition and the expressifpR2 pick] is

aconditional messagehich gets only executed when the condition is true. The mestage:
defines the meaning of the condition, it says that the conditional messages are only executed when

the condition is true.
3. Finally the expressiob2 go is executed.

During the first two executions of this script, there was no diamond on the starting place (as shown
by the Figure 2.1) so the expressiod canPick was false and therefore the conditional expresbi@®n
pick wasnotexecuted (because it is only executed when the condition is true &3ithe:  message
indicates it). During the third execution of the script, the bot was on a tile with a diamond, so the condition
b2 canPick was true and therefore the conditional expressi®npick was executed.

Condition

"

Weather today isRaining
ifTrue: [ self doNotGoOutside.
self readAGoodBook ]

L Conditional Messages

Figure 2.3: A conditional expression composed of a condition and conditional messages.

What you see is that there are different kinds of expressions: some that are always executed while others
are executed only when their associate condition hold. Note that a conditional expression is not limited to
one single message but can be an extremely complex sequence of messages. Similarly the condition can
be a complex expression as we will present it in the Chapter 7.
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If you want to know how many diamonds a robot is carrying just ask it using the expresaion
diamNumber and print the result. After executing four times the previous script starting from the robot
home it should carry one diamond. Modify the script 2.1 as shown in script 2.2 and open a transcript (first
thumbnail of the yellow flap named Advanced) to follow its execution (note that the messageatenate
two strings into one).

Script 2.2 (Picking diamonds)

b2 east.
b2 canPick
ifTrue: [b2 pick.
Transcript show: 'Got a new diamond, now I"m carrying ',
b2 diamNumber printString, ' diamonds’; cr].
b2 go

1.1 ifTrue: and ifFalse:

Squeak offers the methoddrue: andifFalse: to express conditional expressions. Contrary to
ifTrue: , the methodfFalse: executes its conditional messages when its condition is false. We can
always use aifFalse: method instead of éiTrue: ~ method bynegatingthe condition. The script 2.3

is equivalent to the script 2.1 because we negated using the mathothe condition.

Script 2.3 (Picking diamonds usingfFalse: )

b2 east.

b2 canPick not
ifFalse: [b2 pick].

b2 go

The method#False: andifFalse: follow the template shown below. Both execute a condition
and depending on the value returned by the condition execute or not the conditional messages.

Important Messages 2.1

aCondition

ifTrue: [ messageslfConditionlsTrue ]
aCondition

ifFalse: [ messageslfConditionlsFalse ]

Teacher’s Corner
When a message is executed the receiver of the message and the argumaintayaeval-
uated. There is no exception to this rule. However, for conditional statements or loops, it is
necessary to be able to control when a sequence of messages will be executed, if any. This
is for this purpose that blocks are used delimited bgnd] . A block is evaluated, but its
semantics is to delay the execution of the messages it encloses. This is the reason why the
methods such asmesRepeat:  andifTrue:  require blocks as arguments.

Teacher’s Corner

2 The Need forifTrue:ifFalse:

Now imagine that we want a robot to turn north when it cannot pick a diamond. The idea is that the robot
should walk in zigzag going to the north each time it cannot pick a diamond. The result of such a script is
illustrated by the Figure 2.4.
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20 Learning Conditions with Bot

Figure 2.4: Result of applying 3 times the script 2.5 or the script 2.6.

We could write a script as the one shown in script 2.4, however this script does not do what we want
as shown by the Figure 2.5. Read the script, execute it step by step slowly, and try to understand why the
robot is only going straight to the north and not in zigzag as it should do.

Script 2.4 (Picking diamonds or walking (Wrong Solution))

b2 east.
b2 canPick
ifTrue: [b2 pick].
b2 canPick
ifFalse: [b2 north].
b2 go
The idea was to use thifrue:  andifFalse: methods on the same condition thinking that when
one will be executed the other won't. But in fact when the first conditional expression is picking a diamond,
it is modifying the context of the execution and when the second test is executed it is not the same context
as when the first one was executed. Indeed the diamond is not there anymore! In fact when the robot can
pick a diamond it does it then when the second conditidncanPick is executed the condition is false.
And it will alwaysbe false, so the robot will always walk in direction of the north.

Figure 2.5: Result of applying 3 times the script 2.4.

What we need is to avoid to execute twice the metbadPick and keep the result of the method
for the second conditional expression. We should use the value of the condition whenfitsivaze-
cuted. This is easy using a variable (see Chap®erFor example, the script 2.5 introduces a variable
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namedresOfCanPick  and the conditional expressions use this variables instead of invoking the mes-
sagecanPick two times.

Script 2.5 (Picking diamonds or walking (First Correct Solution))

| resOfCanPick |
b2 east.
resOfCanPick := b2 canPick.
resOfCanPick

ifTrue: [b2 pick].
resOfCanPick

ifFalse: [b2 north].
b2 go

The solution is working but it is not really elegant to have to add an extra variable. Imagine if we would
have a lot of conditional expression, we would end up having a lot of variables for one single conditional.
Squeak offers the methdfirrue:ifFalse: to solve this problem. The script 2.6 presents the final
solution. What we see is that we do not need to use an extra variable and that we do not need to have two
conditions. Note that the methdad rue:ifFalse: is asinglemethod with two arguments, one for
the true case and one for the false case, in a similar wayxthat: withSize: . Therefore you should
not put a period after thi following theifTrue:

Script 2.6 (Picking diamonds or walking (Correct Solution usiniTrue:ifFalse: )

b2 east.
b2 canPick
ifTrue: [b2 pick]
ifFalse: [b2 north].
b2 go

The methodfTrue:ifFalse: executes one condition, hen@ canPick , and depending of its
value executes the messages corresponding to the true case or to the false case as explained by the Figure 2.6
and the following template. We say that the metifddue:ifFalse: has two branches corresponding
to two different possible executions. Here the branches are limited to a messagbXepidd for the
true branch and2 north for the false branch) but a branch can contain a complex sequence of messages
as we will see later.

ﬁ Condition
Weather today isRaining Weather today isRaining
ifTrue: [ self doNotGoOutside. ifFalse: [ self shouldTakeSunglasses.
self readAGoodBook ] self goOutside ]
ifFalse: [ self shouldTakeSunglasses. ifTrue: [ self doNotGoOutside.
self goOutside ] self readAGoodBook ]

Conditional Messages

Figure 2.6: Conditional with two branches: one for true and one for false

Note that the methodFalse:ifTrue: also exists and that it works the same way the method
ifTrue:ifFalse: , i.e,, it will execute the false case when the condition is false and the true one when
the condition is true, exactly as the methiétrue:ifFalse: . This method is just there to help you
writing more readable code if you want to start reading the messages executed when the condition is false
as shown by the Figure 2.6.
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22 Learning Conditions with Bot

Important Messages 2.2

aCondition
ifTrue: [ messagesl|fConditionisTrue ]
ifFalse: [ messageslfConditionlsFalse ]
aCondition
ifFalse: [ messageslfConditionlsFalse ]
ifTrue: [ messageslfConditionlsTrue ]

Now you are ready to solve a lot of problems based on conditional. The final variation of the small
problem with work on will show you that conditions can be nested.

3 Nested Conditions

A conditional expression can contain any other messages and in particular other conditional expressions.
This is what we will present now. There is nothing spectacular but it is common that’s why we want to
show it to you.

A Small Problem. We would like that a robot picks a diamoifdhere is one odrops a diamond there
is no diamond and if it has enough diamond to drop

We load the robot using the script 2.7 because we can be in a situation where the robot has to drop
diamonds without been able to pick some and it should still be able to do it.

Script 2.7 (Initializing the robot)

b2 east.
b2 loadWith: 10.

Then to solve our problem we write the script 2.8. If you execute four times in a row this script you
should obtain the situation shown by the Figure 2.7.

a| |a] /m| [a] &
DEDIIDIEDI

A
DIDIDIDDDI

Figure 2.7: Situation once the script pick or drop has been executed four times.
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Script 2.8 (Pick or drop)

b2 canPick
ifTrue: [b2 pick]
ifFalse: [b2 canDrop
ifTrue: [b2 drop].
Smalltalk beep]
b2 go.

As you see this script has the same general structure than the script 2.6. Let us analyze what can happen
and how the script works by evaluating different scenario.

1. First we start to test whether the robot can pick a diamond.

2. If this is possible, the robot does it and the conditional expression is over, it then walks on the next
tile.

3. Ifitwas not able to pick a diamond then the messages composing the false case are executed. These
messages contains a sequence of message: the firsRonanDrop ifTrue: [b2 drop]
is again a conditional expression and the second one a message to make a little noise (We added the
expressiorbmalltalk beep  to show you that you can have multiple condition messages).

The expressiob2 canDrop is executed

o When itis true the conditional messgp2 drop] is executed.
o When the robot can not drop diamond, the conditional expression is over.

The second messa@nalltalk beep  is executed independently that the robot can or not drop a
diamond.

This example shows that we can nest conditional expressions inside other conditional expressions. It
allows one to express more complex situations. Note that when a conditional branch is executed all the
expressions that compose it are executed. For example the execution of the nSesaliigdk beep
does not depend on the fact that the robot can or not drop a diamond. The beep will be always produced
when the robot cannot pick a diamond because it is contained in a sequence of messages that depend on
thecanPick condition.

4 About Method Returned Values

An important point that we want to stress now is that when we have a conditional expression such as

the one shown in script 2.1, the conditional expres&idncanPick shouldreturn a booleari.e.true

or false . This means that we are not only interested by the execution of the mdasagisoby the

result it computes and returns. In Squeak per default a method always returesdiverof the message,

self . If we want that the method returns another object, we have to explicitly mention it using the caret
construct followed by the value to return. The metexdmplel shown in 2.1 returns the number 1,

the methodexample2 returns the value of the expressibn+ 2 after the” , so it returns 3.
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Method 2.1

examplel
"returns 1"

Ml

example2
"returns the result of the expression 1+2"

N1+ 2

In general methods are not limited to return only booleans. They can return all kind of objects. Look
at what we already saw without paying attention. A method can return

o humbers The method +il0 + 2 returns the sum of the two numbetf) max: 20 returns the
maximum,20 atRandom returns a number between 1 and 28to direction is returning the
current direction to which a turtle is pointing at.

o booleansas we just saw.

o colorsas we were used to do with the turtle. For example the expre€sitor blue is asking the
classColor to create a new color blue.

o points.For exampleb2 botWorldPosition returns the position of a robot in its environment.
o string of charactersFor exampléb2 name returns the name of a robot.
o turtles Inthe expressioifurtle new the classTurtle returns a newly created instance.
The chapter 7 explains in detail the concept of boolean and boolean expressions. Here we want to stress
the point that theonditionof a conditional expression should return a boolean viedugrue or false
This boolean value can be computed based on other result. For the example, in the following script 2.9
the expressiob2 diamNumber returns a number, but the expressiith diamNumber = 3 returns a

boolean, so this is correct. The conditional mess8gaalltalk beep  will only be executed when the
robot named?2 carries 3 diamonds.

Script 2.9 (A conditional expression comparing numbers.)

b2 diamNumber = 3
ifTrue: [Smalltalk beep].

5 Final Experiments

o Pay attention to the slightly different problem. Imagine that we want the bot to pick a diamond if there
is oneand dropping one if it can.

o Itis quite annoying to get an error when a bot bumps into a wall or in the limits of its world. To fix this
problem, we can define the methedreGo that checks first whether the move is possible. Define
such a method (note that the problem is that we will never know if the robot is indeed bumping into a
wall when building more complex behavior.

o In a similar fashion, define the methedfePick that checks that there is a diamond before picking
one.

o Define a methodjoBackIfBrick that makes the robot turning in the opposite direction when it
cannot walk anymore.

6 Summary
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Method Description
Execute messageslfConditionlsTrue only if aConditi
aCondition is true. The robot will only pick the diamond if he can|
ifTrue: [ messageslfConditionlsTrue b2 canPick
ifTrue: [ b2 pick]
Execute messagesl|fConditionlsFalse only if aCondit
aCondition is lezlsed.. The sgstem beeps only when the robot ca
ifFalse: [ messageslfConditionlsFalse pick a diamon
b2 canPick
ifFalse: [Smalltalk beep]
Execute messageslifConditionlsTrue whether aCo
- tion is true otherwise execute messageslIfConditior
aCondition False. The robot pick a diamond when it can oth
ifTrue: [ messageslfConditionlsTrue tha se. ; e[)o ot pick a diamond when it can otherw
ifFalse: [ messageslfConditionisFalse € System beeps.
b2 canPick
ifTrue: [b2 pick]
ifFalse: [Smalltalk beep]
Execute messageslifConditionlsTrue whether aCo
s tion is true otherwise execute messageslfConditi
aCondition IsTrue. The robot pick a diamond when it can oth
ifFalse: [ messageslfConditionlsFalse tf\ rue.t ebro otpickadiamondwhen it can otherw
ifTrue: [ messageslfConditionlsTrue € system beeps.

b2 canPick
ifFalse: [Smalltalk beep]
ifTrue: [b2 pick]

\di-
on-
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3

Conditional Loops

Having conditions is a crucial tool for expressing complex programs. However, conditions are not enough.
Sometimes we would like to combine loops and condittonin fact we would likeconditional loops
i.e,loops that repeat sequence of messages until a certain condition holds.

We will use heavily conditional loops to simulate animal behavior and other strategies such as escaping
mazes or following paths.

1 Conditional Loops

The idea behind conditional loops is that a sequence of messages is repeated while a certain condition holds.
Squeak defines two messagelsileTrue: andwhileFalse: that allows one to define conditional

loops as shown by the templates below. The Figure 6.1 shows that a conditional loops is composed of a
conditionandconditional messages

Condition

Weather today isRaining
whileTrue: [ self doNotGoOutside.
self readAGoodBook ]

"

Conditional Messages

Figure 3.1: ThevhileTrue:  conditional loops is composed of a condition and a sequence of conditional
messages.

Important Messages 3.1
[ condition ] whileFalse:
[ conditional messages ]

[ condition ] whileTrue:
[ conditional messages ]

An example. Let us take a simple example to illustrate their use. Imagine that we want that a robot takes
all the diamonds available on a line. Let us call this metpio#CompleteLine

LIn this book we only superficially present recursioa,the fact that we can define method in terms of themselves.
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To simplify the example, we first define the metteafePick method 3.1 that makes a robot pick a
diamond if there is one and do not raise error otherwise.
Method 3.1

safePick
"pick a diamond if there is one"

self canPick
ifTrue: [self pick]

Now we can define the methgickCompleteLine as follows:
Method 3.2

pickCompleteLine

[ self canMoveForward ]
whileTrue: [ self safePick.
self go ]

How does it work?
1. First a condition is evaluated. Here the expressilh canMoveForward  is executed.

2. o If the condition is false then the conditional loop stops and nothing more is executed in this
method.
o If the condition is true then the conditional messages are executed. dédresafePick.
self go are executed. Then the process restarts as described in the point 1. This is why we
have a conditional loop.

Note that in a similar way that with conditional expression, the condition in a conditional loops should
return a boolean (Se@?).

As forifTrue: andifFalse: , whileTrue: can be substitued byhileFalse: by negating
the condition. For example, the methpitkCompleteLine can easily be defined using the method
whileFalse: by negating the condition as follow:

Method 3.3
pickCompleteLine
[self canMoveForward not |
whileFalse: [self safePick.

self go]

As you see the new version is less understandable. The advice is that you should use the method that
helps you to understand the algorithm you are defining.

2 About the use off]

You may have difficulties to remember when to |fut and not. There are basically two rules in Squeak.
You surround an expression withand] when:

o you need to execute several times the same expression. For example,

o 4 timesRepeat: [caro go: 10; turnLeft:90] repeats 4 times the messagaso
go: 10; turnLeft:90 ,
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o1 to: 10 do: [ii | Transcript show: i printString ; cr] repeats ten
times the:i | Transcript show: i printString ; cr] which prints the num-
ber to the transcript.

o the expression is not always executed. For example,

o b2 canPick ifTrue: [b2 pick] only execute®2 pick under certain circumstances,
o [self canMoveForward] whileTrue: [self safePick; go] repeats multiple
times conditionally botilself canMoveForward  andself safePick; go , therefore the

receiver and the argument are blocks.

3 Learning from Errors

You may note that the methgackCompleteLine method 3.3 was not really good. Can you understand
what is the problem? What's happen for the diamonds that are just in front of a brick? A robot will not
pick them.

Indeed using this method a robot does not pick a diamond that is just near a brick or near the limit of
the world. First explain why by showing step by step why this situation occurs. Second propose a solution
to this problem.

The solution we thought about is shown by the method 3.4. The idea is that a robot should pick a
diamond then try to move forward.

Method 3.4

pickCompleteLine

[self safePick.
self canMoveForward)]
whileTrue: [self go]

This example shows that the condition can be composed by a sequence of expressions. As for all the
conditional expressions there is one important constraint that the last expression should return a boolean.
What we mentioned in the section 4 applies also for conditional loops too.

Stopping an endless loop. As you may guess it may happens that the loop does terminate.

In fact it is not exceptional to write endless loape., the sequence of messages is continously exe-
cuted. This happens because the boolean expression never returns twhédbalse: and false for
whileTrue: . You can stop a loop by pressing Apple-. on Mac or Alt or Control-C on other platform.
Then to understand why the loop does terminate you can use the debugger that pops up and by clicking its
Debug button.

What you should understand is that there should be something in the sequences of expressions that
leads to change the value of the condition. For example, the megsaigethe method 3.3 linked to the
fact that our environment is bounded makes sure that the robot will arrive at one point in time in a situation
where the conditiorself canMoveForward  will not be true anymore, hence the loop will stop. As
you see this is not simple but you should always ask yourself the question whether your loops expressions
contain at least expressions that would change the condition value.

To help to understand what is going wrong with your loops you can use simple debugging techniques
such as introducing self halt expression or the conditional messages in the condition which opens a
debugger. Another approach is to generate a trace in the Transcript. For example in the following method
we write in the transcript the position of the robot. Note that the position are points and that we transformed
them into strings because the transcript only knows to print strings.
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Method 3.5

pickCompleteLine

[ self halt.
self safePick.
self canMoveForward]
whileTrue:
[ Transcript show: self botWorldPosition printString ; cr
self go]

4 Practising

Now we are ready to write some other simple conditional loops. A robot can drop multiple diamond on the
same tile, define the following methods:

o fullyDrop  that make a robot drops all the diamonds it is carrying on the current tile.

o fullyPick that make the robot picks all the diamonds on the current tile.

o dropLineOfFive  that make the robot drop all its diamond per packets of five in a line.

o fullPickLine that makes the robot picking all the diamonds available on each tiles for a complete
line.

o reverseLine  that makes the robot picks a diamond if there is one or dropping one if there is none
and this on a complete line.

o straightUntilYellow that makes the robot moving straight and stop if it is passing over a
yellow tile.

Note that you may have to nest conditional and conditional loops.

5 Experiments: Yellow Finder

Now we would like to build different strategies to let a robot walk until it finds a yellow tile. First define
an environment that looks like the one shown by the Figure 3.3 to have a bit more fun.
We need some methods to manage the direction of our robot for example, we can define the method
pointBack which makes arobot pointing in the opposite directipmintLeftOrRight which makes
it points randomly on the left or the right.
Imagine how such methods could be implemented to train yourself.

Method 3.6

pointBack

self direction: self direction negated

Method 3.7

pointLeftOrRight

2 atRandom = 2
ifTrue: [self turnLeft]
ifFalse: [self turnRight]




DDD
DDD

%@;EDEFEE

ented in different ways propose y
m direction @ @To move in the distr

DD

ou to define the
ibution@ @



32 Conditional Loops

Method 3.8

pointRandomly
self direction: self randomDirection
randomDirection

"a direction is a point composed by -1,0, or 1 with the constraint
that x * y should always be = to 0"

y
atRandom - 2.

=3

= 3 atRandom - 2.

N (x *y) isZero

ifTrue: [x @ V]

ifFalse: [self randomDirection]

| x
X
y

@@To move in the distribution@ @

Bumping and Turning. A simple strategy is to make a robot walking until it is on top of a yellow and
when the robot bumps into a wall make it turns randomly on the right or the left.

Method 3.9

untilBumping

[self isOnYellow]
whileFalse: [self canMoveForward
ifFalse: [self leftOrRightDirection].
self go]

Note that there is problem with the methertiiBumping . Can you see it? What's happen if there
is just a brick close to another one and that the robot choose to go exactly in that direction. Propose a
solution.

Figure 3.3: Brick configuration potentially blocking a robot using leftOrRightDirection strategy.

Fooling around. Another strategy is to let the robot randomly browse and check whether it is walking
on a yellow tiles.
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Method 3.10

browse

[self isOnYellow]
whileFalse:
[self pointRandomly.
self canMoveForward
ifTrue: [self go]]

We suggest you to make the robot paint the tiles were it is. This way you will be able to see where it
moved. You can imagine a solution where you use simply green (left in Figure 3.4). Then a fun variation
is to use multiple colors that represent the number of times the bot passed on the same tile. For example in
the right picture of the Figure 3.4 a robot painted first in green, then magenta when it was on a green tile
and finally black when it was on a magenta tile.

Figure 3.4: Left: A robot browsing and letting a simple trace. Left: A robot browsing and letting a complex
trace.

6 Summary

Method Description
Execute SequenceOfMessages onlGonditionis false.

[ aCondition ] whileFalse:
[ SequenceOfMessages |

Execute SequenceOfMessages ongGonditionis true.

[ aCondition ] whileTrue:
[ SequenceOfMessages |
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4
Customizing the Bot

The implementation of the robot we propose can easily be changed to fit your particular needs as teacher
or as robot designer. In this chapter we show how you can adapt the robot code to your own wishes.

1 Extending or Refining Robot Behavior

When we designed the robot interface we payed attention to have short and descriptive methods that we
can type easily. However certain methods can still be shortened such as for egkanigleve Forward
could becomeanFwd.

Method 4.1

In category extension
Bot>>canFwd
"return true wether the receiver can move forward"

A self canMoveForward

The methodafePick method 3.1 that we presented in previous chapter is another one of the changes
that can be useful. Indeed the design of the methicki forces the programmer to check whether there is
a diamond available. This can be annoying after a while.

2 Controlling Robot Sounds

As a teacher you may want to control the sounds emitted by the robots. You can do that by sending
messages directly to thgot class itself as shown in the script 4.1.

Script 4.1 (Controlling robot sounds)

Bot silentMotor.
Bot noisyDrop.
Bot noisyPick.
Bot silentBump

The methodsilent  disables all the sounds and the metmmisy enables them all. If you want a
finer granularity use the methodsisyMotor , noisyDrop , noisyPick , noisyBump ,silentMotor  ,silentDrop
silentPick  , andsilent

You can also redefine the methBdt class»initialize defined on the class side of tB®t
class (you should use a plain Smalltalk browser and press the class Button to see its definition se@hapter
The default definition of the methdgbt class»initialize is shown in 4.2. You can change its last
line.
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north
0@ -1

east
1@0

west
-1@0

0@1

south

Figure 4.1: The encoding of directions: changing the direction to one of the direction encoding values
changes the bot direction.

Method 4.2

In category initialization
initialize
"self initialize"

colorindex 0.
colorTable Color
wheel: self maxColor
saturation: 0.6
brightness: 1.

self noisy

3 New Sensors

The robot sensors are quite limited as per default they only test the tile on which a robot is standing. Here
are the definitions of new sensors that can check the color of a tile one tile ahead in one direction.

The direction is encoded by points having the following constraints: their values is -1, 0, or 1 and as a
robot can only move in four directions the x and y cannot be both 1 or -1, said mathematically x * y should
be zero.

For example here are the methadsstEncoding andnorthEncoding  that represent the absolute
directionswest andnorth
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Method 4.3

Bot>>westEncoding
Nl @0
Bot>>northEncoding

"0 @ -1

Then the methodvest just changes the direction of a robot using the meftiogkction: with the
correct direction ecoding as follow.

Method 4.4

Bot>>west

Delay forMilliseconds: 100.
self direction: self westEncoding

The methodeftDirectionEncoding shows how the direction pointing to the left from the cur-
rent direction can then be computed.

Method 4.5

Bot>>leftDirectionEncoding

| dir |
dir := self direction.
N dir y @ dir x negated

This is easy to define new sensors because we just have to add direction to the bot position to have
access to the tiles in those directions. The metligldsftTileYellow , isRightTileYellow ,and
isRightTileYellow shown in 4.6 show how to define new sensors that we will use in the cR&@pter
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Method 4.6

In category advanced sensors
Bot>>isLeftTileYellow

| leftTilePosition |
leftTilePosition := self leftDirectionEncoding + self botWorldPosition.
A (self isNextMovelnWorld: leftTilePosition)

and: [(botWorld tileAt: leftTilePosition) isYellowTile]

Bot>>isRightTileYellow

| rightTilePosition |
rightTilePosition := self rightDirectionEncoding + self botWorldPosition.
A (self isNextMovelnWorld: rightTilePosition)
and: [(botWorld tileAt: rightTilePosition)
isYellowTile]

Bot>>isRightTileYellow

| tileInFront |
tileInFront := self direction + self botWorldPosition.
A (self isNextMovelnWorld: tileInFront)
and: [(botWorld tileAt: tileInFront)
isYellowTile]

4 Measuring Distance

Another interesting information you may need is the distance from which a robot is from its starting point.
Let us call this methotitomeDistance and define it as follow. First we calculate the distance along the
axis (here we use the fact that subtracting two points returns a point representing the difference for each
coordinate) then based on that we compute the distance.

Method 4.7

Bot>>homeDistance
"Return the distance from the starting place"

| diff |
diff := self botWorld startingPlace - self botWorldPosition.
A (diff x squared + diff y squared) sqrt

5 Robot Variables

A robot can have its own set of variables. A robot can hold and remember all kinds of values using the
methodsvalueOf:  andset:ito: . The methodralueOf: aVariableName returns the value of
the variable with the nane/ariableName . The methodet: aVariableName to: aValue
changes the variabVariableName to holdaValue as a normal variable. In a similar way we use
variable to hold value, these methods allows one to give names to value stored in a robot and retrieve them
using their names. In addition, the metlisdariableDefined: aVariableName allows one to
know whether a variable is defined.

The script script 4.2 defines for the robot nanf@dthe variablecount with the valueO, then access
this value.
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Script 4.2 (Using robot variable in a bot controler)

b2 set: #count to: O.
"Define the variable count and set it to 0"

b2 valueOf: #count
"Access the value of the variable count and return it
here 0 is returned”

The script script 4.3 defines for the robot nantthe variablecount with the valueO then addl
to this variable. Then a variableewCount is defined with the valu8. Finally the sum of the variable
newCount andcount is set to thenewCount variable.

Script 4.3 (Defining, adding bot variable)

b2 set: #count to: O.
"Define the variable count and initializes it with 0"

b2 set: #count to: (b2 valueOf: #count) + 1.
"Add one to the value of the variable count"

b2 valueOf: #count
"return 1"

b2 set: #newCount to: 3.

b2 set: #count to: (b2 valueOf: #count) + (b2 valueOf: #newCount).
"Add in count the previous count value and the one of newCount"
b2 valueOf: #count

"return 4"

b2 isVariableDefined: #count
"return true as the variable #count is defined"

Note that accessing the value of a variable that does not have been defined previously is an error as
shown by the script script 4.4.

Script 4.4 (Error: accessing an undefined variable)

b2 valueOf: #lulu
"report an error stating that the variable lulu is not defined"

Using a robot variable we can now introduce the possibility to count the number of steps that a
robot is making. The solution is based on the definition of the new methmiikslize Steps ,
stepPlusOne , steps , andcountingGo
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Method 4.8

In category distance

Bot>>initializeSteps
"initialize to O the number of steps a robot did"
self set: #steps to: 0

Bot>>stepPlusOne
"increment the number of steps by one"

self set: #steps to: (self valueOf: #steps) + 1

Bot>>steps
"return the number of steps"

N self valueOf: #steps

Method 4.9

In category distance
Bot>>countingGo
"move forward the receiver and count this move"

(self isVariableDefined: #steps)
ifFalse: [self initializeSteps].

self go.

self stepPlusOne

Note that this approach has the drawback of only initializingstees variable when theountingGo
isinvoked. So using theteps method before a call tmitializeSteps orcountingGo  will result
in an error mentioning that the variable is not defined. Propose a solution using the ms®tuaable Defined:

Another solution is to redefine the methoakherlnitialize andgo directly to introduce the
initialization and the counting.

The methodtherlnitialize is a method dedicated for robot extension initialization, per default
it does nothing so you can freely add your extension initialization code there.

Method 4.10

In category initialize
Bot>>otherlnitialize

self initializeSteps

The methodyo is a bit more complex but you should not really pay attention to that and only add at
the end of the method a line to count that one extra step has been made.
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Method 4.11

In category operations

Bot>>go
"Move the bot one tile in the current direction without
checking wether it is possible. Raise an error if there is a
problem "

| nextPosition |
nextPosition := self nextPosition.
(self isNextMovelnWorld: nextPosition)
ifFalse: [self scratch.
A self error: 'Alert bot out of limits!’].
self isWallinFront
ifTrue: [self scratch.
self error: 'Alert bot bumped into a brick!]
ifFalse: [self goTo: nextPosition.
World doOneCycle.
self motor].
self stepPlusOne
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D

Conditions with Caro

Up until now the programs we defined were executitigthe messages they contained. There was no
way to describe that certain messages have to only be executed when certain conditions were true. In
this chapter and the following one we will introduce an important programming concept: the notion of
conditional execution,e.,the fact a certain piece of code is executed under a given condition.

We start by defining a simple problem that shows the need of conditional execution, then we present in
detail the conditional expression offered by Squeak.

1 A Simple Problem

We would like to change the color of a turtle depending on its distance from the center of the screen. Let
us say that if a turtle is located at a distance smaller than 200 pixels from the center it should be red else it
should be green.

This problem requires eonditionalexecution, depending on the turtle location its color will be dif-
ferent. The script 5.1 presents a possible scenario showing how the mdistaticeDetector is
used.

Script 5.1 (A Simple Detector)

caro := Turtle new.
caro jump: 20.
caro distanceDetector.
caro jump: 20.
caro distanceDetector.
A possible definition of the methatistanceDetector is shown in the method 5.1.

Method 5.1

distanceDetector

| dist|
dist := self distanceFrom: World bounds center.
dist < 200

ifTrue: [self color: Color red]

ifFalse: [self color: Color green]

Let us analyze now what happened.
1. The distance from the receiver to the center of the screen is computed and stored into the variable
dist

2. Thenwith the expressiatist < 200 ifTrue: [self color: Color red] ifFalse:
[self color: Color green] if the distance is smaller than 200 the color of the receiver is
changed to red else it is changed to green. This expressiatoisditionalexpression.

1We could have defined the color as a function in terms of the distance but this is not our purpose here. Moreover, it may be rare
to be able to define a continuous function so we may need also condition to define such a method.
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A conditional expression is composed of two partsoaditionandconditional messagess shown

by the Figure 5.1. The expressidist < 200 s a condition and the expressifself color:

Color red] isaconditional messagehich gets only executed when the condition is tifiErue:

defines the meaning of the condition, it says that the conditional messages are only executed when
the condition is true. Similarly the expressiself color: Color green] is a conditional
message that is only executed when the condition is false.

What you see is that there are different kinds of expressions: some that are always executed while others
are executed only when their associate condition hold. Note that a conditional expression is not limited to
one single message but can be an extremely complex sequence of messages. Similarly the condition can
be a complex expression as we will present it in the Chapter 7.

ﬁ Condition

Weather today isRaining
ifTrue: [ self doNotGoOutside.
self readAGoodBook ]
ifFalse: [ self shouldTakeSunglasses.
self goOutside ]

\_ Conditional Messages

Figure 5.1: A conditional expression composed of a condition and conditional messages.

Teacher’s Corner
When a message is executed the receiver of the message and the argumalntayseval-
uated. There is no exception to this rule. However, for conditional statements or loops, it is
necessary to be able to control when a sequence of messages will be executed, if any. This
is for this purpose that blocks are used. A block is evaluated delimitdd dryd] , but its
semantics is to delay the execution of the messages it encloses. This is the reason why the
methods such aimesRepeat:  andifTrue:ifFalse: require blocks as arguments.

Teacher’s Corner

Experiments. You can use the Transcript (first thumbnail of the yellow flap named Advanced) and a
trace to see how the expressions are executed as shown in the method 5.2.

Method 5.2

distanceDetector

| dist|
dist := self distanceFrom: World bounds center.
Transcript show: ’always’; cr.
dist < 200
ifTrue: [self color: Color red.
Transcript show: 'red’ ; cr]
ifFalse: [self color: Color green
Transcript show: ’'green’ ; cr]
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The methodfTrue:ifFalse: executes one condition, hedist < 200 , and depending of
its value executes the messages corresponding to the true case or to the false case as explained by the
Figure 5.2 and the following template. We say that the meffbde:ifFalse: has two branches
corresponding to two different possible executions. A branch can contain a complex sequence of messages
as we will see later. Note that the methiétrue:ifFalse: is asinglemethod with two arguments,
one for the true case and one for the false case, in a similar wagdhwatwithSize: . Therefore you
should not put a period after thefollowing theifTrue:

ﬁ Condition
Weather today isRaining Weather today isRaining
ifTrue: [ self doNotGoOutside. ifFalse: [ self shouldTakeSunglasses.
self readAGoodBook ] self goOutside ]
ifFalse: [ self shouldTakeSunglasses. ifTrue: [ self doNotGoOutside.
self goOutside ] self readAGoodBook ]

Conditional Messages

Figure 5.2: Conditional with two branches: one for true and one for false

Note that the methodFalse:ifTrue: also exists and that it works the same way the method
ifTrue:ifFalse: , .e,it will execute the false case when the condition is false and the true one when
the condition is true, exactly as the methétrue:ifFalse: . This method is just there to help you
writing more readable code if you want to start reading the messages executed when the condition is false
as shown by the Figure 5.2.

Important Messages 5.1

aCondition
ifTrue: [ messagesl|fConditionisTrue |
ifFalse: [ messageslfConditionlsFalse ]
aCondition
ifFalse: [ messageslfConditionlsFalse ]
ifTrue: [ messagesl|fConditionisTrue |

About Returned Value. We suggest you to read the section 4 that explains the important point about the
returned value of a method that is central to the concept of condition. Indeed for a condition we are not only
interested by the execution of a messhgealsoby the result it computes and returns. For example in the
method 5.1, the expressiself distanceFrom: World bounds center not only computes it
butreturnsan integer that represents the distance of the receiver from the center of the screen, the condition
used this value to decide wich branch should be executed. The cordigiorr 200 returns a boolean,

true orfalse , whichis used by the conditional expression.

2 ifTrue; and ifFalse:

Sometimes we do not need two conditional branches. We only need to perform one action when a
given condition is true but nothing when the condition is false or vice versa. For example the method
redWhenCloseToCenter  (5.3) only changes the color of the receiver to red when it is at a distance
smaller than 200.
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Method 5.3

redWhenCloseToCenter

| dist|
dist := self distanceFrom: World bounds center.
dist < 200
ifTrue: [self color: Color red]
ifFalse: []
Using the methodTrue:ifFalse: method we just have to leave the second branch empty. How-

ever, Squeak offers the methdfisue:  andifFalse: to express this kind of conditional expressions.
The methodfTrue: executes its conditional messages when its condition is true. Using the method
ifTrue:  the method redWhenCloseToCenter (5.3) is expressed as in method 5.4.

Method 5.4

redWhenCloseToCenter

| dist|
dist := self distanceFrom: World bounds center.
dist < 200

ifTrue: [self color: Color red]

Contrary toifTrue: , the methodfFalse: executes its conditional messages when its condition is
false. We can always use dRalse: method instead of éTrue:  method bynegatingthe condition
as shown by the new version of the method redWhenCloseToCenter (5.5).

Method 5.5

redWhenCloseToCenter

| dist|
dist := self distanceFrom: World bounds center.
(dist < 200) not

ifFalse: [self color: Color red]

The method#False: andifFalse: follow the template shown below. Both execute a condition
and depending on the value returned by the condition execute or not the conditional messages.

Important Messages 5.2

aCondition
ifTrue: [ messagesl|fConditionisTrue |
aCondition
ifFalse: [ messageslfConditionlsFalse ]
A Subtle Difference. The difference between usinfj rue:ifFalse: andifTrue:  followed by
ifFalse: is that theconditionusingifTrue:ifFalse: is only executed once, while wiifTrue:
followed byifFalse: the condition of the two conditional expressions is executed twice. This can be a

problem when conditional messages of the first conditional expresfiond. ) modifies what is tested
by the condition of the second conditional expressifffa{se: ). This particular point is explained in
detail in 2
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Figure 5.3: Various turtles at different distances from a point.

3 Nesting Conditional Expressions

A conditional expression can contain any other messages and in particular other conditional expressions.
This is what we will present now. There is nothing spectacular but it is common that's why we want to
show it to you. Conditions can be nested inside conditions.

Another Simple Problem. Let us modify our previous problem. Now we would like that if a turtle is
located at a distance smaller than 200 pixels from a point it should be red, when it is between 200 and
300 pixels it should be yellow and at a distance greater than 300 it should be green. The Figure 5.3 shows
various turtles that changed their color using the mettisthnceDetector

What we see from our problem is that different parts of the method should be executed under different
circumstances changing the color to yellow should be performed under conditions that are different than
changing the color to green.

A possible solution to our problem is shown by the method 5.6.

Method 5.6

threeColorDetector

| dist|
dist := self distanceFrom: World bounds center.
dist > 300
ifTrue: [self color: Color green]
ifFalse: [dist < 200
ifTrue: [self color: Color red]
ifFalse: [self color: Color yellow]]

We have two different conditions that we hilighted in italics and in bold as shown explicitly in the
script 5.2 and in the method 5.7. The second condition (in bold) is only executed whether the condition of
the first one is false. Here when the distance is smaller than 300 the condition 2 is executed which means
that its condition is executed and that depending on its values the right branch is executed. Take a colored
pen and for one particular value of the distance, underline the part of the method that will be executed, you
will see that only certain branches are executed.
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Script 5.2 (The two conditions othreeColorDetector

)

Condition 1:
dist > 300

ifTrue: [self color: Color green]
ifFalse: [ ... ]

Condition 2:
dist < 200

ifTrue: [self color: Color red]
ifFalse: [self color: Color yellow]

Method 5.7

threeColorDetector

| dist|

dist := self distanceFrom: World bounds center.

dist > 300
ifTrue: [self color: Color green]
ifFalse: [ dist < 200
ifTrue: [self color: Color red]
ifFalse: [self color: Color yellow]

4

Learning from Errors

We would like to show you how to learn from an error. We defined the matblmdledTurn:  anAngle

that change the color of a turtle is relation with the direction to which it is heading at. We decided that
when the turtle was pointing to the north it should become blue to represent cold, red when pointing to the

the south else it should be green. Our first definition of this method is presented in the method 5.8.

Method 5.8

coloredTurn: anAngle

"change the color of the turtle so that it is blue aiming

at the north and red to the south”

self turn: anAngle.
self direction = 90
ifTrue: [self color: Color blue].
self direction = -90
ifTrue: [self color: Color red]
ifFalse: [self color: Color green]

This definition, however, is not correct. Before reading the explanation shown in the script 5.3 and
the script 5.4, try to guess why it is wrong by yourself. This method is wrong because when the turtle is
pointing to the north its color is green while it should be blue.
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Script 5.3 (lllustrating the bug)

| caro |
caro := Turtle new.
caro coloredTurn: -90.

caro color -> Color red "ok"
caro coloredTurn: 90.

caro color -> Color green. "ok"
caro coloredTurn: 90.

caro color -> Color green "wrong"

Why... Execute mentally the method 5.8 and identify why this method does not specify the expected
behavior. In fact the problem is that even if the conditseff direction = 90 is true and that its
associated block is executed, the method continues and evaluate the false branch of the last conditional
statement, changing then the color of the turtle to green. script 5.4 illustrates the execution flow that leads
to the problem.

Script 5.4 (Analyzing the problem)

caro coloredTurn: 90.

self direction = 90 is true
so we go into theifTrue: [self color: Color blue]
we evaluate the following
self direction = -90 is false
so we do not go into thdafTrue: [self color: Color red]
but go into the ifFalse: [self color: Color green]

The solution... To solve our problem we have to be sure that all the code follows the right conditions and
in particular that certain code is not executed. Hence, we have to nest code under the correct condition.

Method 5.9

coloredTurn: anAngle
"change the color of the turtle so that it is blue aiming at the
north and red to the south, green else"

self turn: anAngle.
self direction = 90
ifTrue: [self color: Color blue]
ifFalse: [ self direction = -90
ifTrue: [self color: Color red]
ifFalse: [self color: Color green]]

5 Other Examples and Further Experiments

Now we show some examples of conditional expressions. We first start by improving the robustness of the
script??. The script?? was not robust enough because we could enter a string that was not representing a
number and it would broke. The script 5.5 improves its robustness by checking that the answer represents a
number using the messagdllIDigits . The stair is drawn only when the answer represents a number.
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Script 5.5 (Interactive stair)

| caro |
answer = (FilllnTheBlank
request: 'Number of steps’
initialAnswer: '10’).
answer isAllDigits
ifTrue: [caro := Turtle new.
answer asNumber timesRepeat:
[caro
go: 10 ;
north ;
go: 10 ;
east]

InaBox. The method 5.10 shows a method that allows a turtle to move forward only if it stays inside the
specified rectangle as shown by the script 5.6. We will extend this script in the cR&pter

Method 5.10

go: aninteger ifStaylnBox: aRectangle
"Move foward a turtle only if the move will let the receiver into
the rectangle specified by aRectangle"

(aRectangle
containsPoint: (self positioninDirectionForDistance: aninteger))
ifTrue: [self go: aninteger.]

Script 5.6 (Example ofWider coloring. )

Turtle new
go: 100
ifStaylnBox: (Rectangle center: World center extent: 400 )

Wider coloring. We would like to change the color of a turtle to blue when its is between 45 and 125, red
when it is pointing between -45 and -125. Try to use the method fin@@r to find a method that would
help you to simplify the expression of the condition.

the method 5.11 shows you one possible solution. The use of the miatheden:and:  provides
a readable way to express certain conjunctionbetween: 0 and: 10 s equivalent tq5<10)
& (5>0) .
Method 5.11

coloredTurn: anAngle
"change the color of the turtle so that it is blue aiming at
the north and red to the south”

self turn: anAngle.

(self direction between: 45 and: 125)
ifTrue: [*self color: Color blue].
(self direction between: -45 and: -125)
ifTrue: [*self color: Color red].

self color: Color green
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Interpreting.  Imagine that we would like that a turtle understand a mini language constituted by charac-
ters such as $g to move forward and $t to turn of 45 degree as shown in script 5.7. Note that this method
will be reused in the chapté&? in which we will show how to use collections.

Script 5.7 (Usinginterpret: aCharacter )

| aTurtle |

aTurtle := Turtle new.

4 timesRepeat:

[aTurtle

interpret: $g;
interpret: $t;
interpret: $g;
interpret: $g;
interpret: $t;
interpret: $g]

The methodnterpret can be defined as follows:
Method 5.12

interpret: aCharacter

aCharacter = $g
ifTrue: [self go: 20]
ifFalse:
[aCharacter = $t
ifTrue: [self turn: 45]]

Further Experiments. Enhance the methoiterpret: aCharacter so thatgorG makes the
turtle goes forward and thabrT makes it turns. Add also that $+ makes the turtle turning left and $- right.

6 Summary
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=

on
not

\di-

di-

n-

Method Description
Execute messageslfConditionlsTrue only if aConditi
aCondition is true. If a turtle is pointing to the north, it turns gree
ifTrue: [ messageslfConditionlsTrue self direction = 90
ifTrue: [ self color: Color green]
Execute messagesl|fConditionlsFalse only if aCondit
aCondition is faltge. tTP:ﬁ systt;,\rrln beeps only when the turtle is
ifFalse: [ messageslfConditionlsFalse pointing to the north.
self direction = 90
ifFalse: [Smalltalk beep]
Execute messagesl|fConditionlsTrue whether aCo
aCondition Eorr is true otherwise execute messagesl|fConditionls-
ifTrue: [ messageslfConditionlsTrue alse.
ifFalse: [ messageslfConditionIsFalse self direction = 90
ifTrue: [self color: Color green]
ifFalse: [Smalltalk beep]
Execute messageslifConditionlsTrue whether aCo
aCondition }IO'F] is ;[Ee o';)hetrvx_nske Z)fecutedmﬁssggeslfC%ndltlc
ifFalse: [ messageslfConditionlsFalse tf\ rue.t ebro ot picka diamondwhen it can otherw
ifTrue: [ messageslfConditionlsTrue € system beeps.

self direction = 90
ifFalse: [Smalltalk beep]
ifTrue: [self color: Color green]
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Conditional Loops

Having conditions is a good tool for expressing complex programs. However, conditions are not enough.
Sometimes we would like to combine loops and conditions. In fact we would like conditional loops,
i.e,loops that repeat sequence of messages until certain condition hold. In this chapter we present the
conditional loops offered by Squeak using simple examples. We will use heavily conditional loops to
simulate animal behavior and other strategies, such as escaping mazes or following paths.

1 Conditional Loops

The idea behind conditional loops is that a sequence of messages is repeated while a certain condition holds.
Squeak defines two messagelileTrue: and whileFalse: that allow one to define conditional

loops as shown by the templates below. The Figure 6.1 shows that a conditional loops is composed of a
conditionandconditional messages

Condition

Weather today isRaining
whileTrue: [ self doNotGoOutside.
self readAGoodBook ]

"

Conditional Messages

Figure 6.1: ThevhileTrue:  conditional loops is composed of a condition and a sequence of conditional
messages.

Important Messages 6.1
[ condition ] whileFalse:
[ conditional messages ]

[ condition ] whileTrue:
[ conditional messages ]

An Example. Let us take a simple example to illustrate their use. Imagine we want a turtle to move in
the direction of the north until its y coordinate is smaller than 100 pixels. A solution using a conditional
loop is shown by the method 6.1 as invoked in the script 6.1.
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Script 6.1 (Invoking upTo100)

| caro |
caro = Turtle new.
caro upTol00

Method 6.1

upTol00
"Make forward the receiver until its ordinates is smaller than 100"

self north.

[self center y > 100]
whileTrue: [self go: 10].

self color: Color green.

Let us carefully look at this method.
1. The expressiogelf north is not part of the conditional loop, therefore it is executed once.

2. Thenthe condition expressed as a blfzetf center y > 100] is executed. When the result
of the condition is true and only then the conditional messages specified as argument of the method
whileTrue: ,[self go: 10] , are executed. Once the execution of the conditional messages
terminates the process restarts as in point 2.

3. When the result of the conditigself center y > 100] is false, the argument of thehileTrue:
method isnot executed and the loop stops. The messages following the conditional expression are
executed: here the expressemif color: Color green gets executed and the method ter-
minates.

Sometimes programming conditional loops is difficult, because we forget to check carefully the con-
dition and how the loop changes to tend towards the end of the condition. We strongly suggest you to
open a transcript and include a trace to understand how the loop behaves as shown in the method 6.2. The
Figure 6.2 shows the result of an execution.

Method 6.2
upTol00
"Make forward the receiver until its ordinates is smaller than 100"
self north.
[self center y > 100]
whileTrue:
[ Transcript show: ™* ' | self center y printString.
self go: 10]

self color: Color green.

As forifTrue: andifFalse: , whileTrue: can be substitued byhileFalse: by negating
the condition. Use the method that helps you to understand the algorithm you are defining.

Further Experiences. The place where you introduce the logging line has also an impact on the resulting
trace. As alternative experience, introduce the Tinenscript show: '* ' | self center

y printString. after the expressioself go: 10  or even in the first block before the first line

as shown by the method 6.3.
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X Transcript Ho
*2o4% 244% 234% 224% 214% 2047 194% 154% 174% 164% 154% 144% =
134% 124% 114* 104

Figure 6.2: The trace of the execution of the methpd@o100 .

Method 6.3

upTol00
"Make forward the receiver until its ordinates is smaller than 100"

self north.
[Transcript show: 'c ', self center y printString; cr.
self center y > 100]
whileTrue:
[Transcript show: ™ ’ | self center y printString; cr.
self go: 10].
self color: Color green

Method 6.4

upTo100
"Make forward the receiver until its ordinates is smaller than 100"

self north.
[self center y > 100]
whileTrue:
[ self go: 10
Transcript show: '# ' , self center y printString]

Compare the traces produced by the scripts 6.2, 6.3, and 6.4. Look in particular at the first values.
Perform the following experience: move the turtle by using the black halo close to the top edge of the
window, i.e., be sure its y coordinate is smaller than 100. Then invoke the metp®d100, as you
should see nothing happens. This is normal, the method is invoked and the expseffsioenter y
> 100 is false as the position of the turtle is smaller than 100. Therefore the conditional messages are not
executed.
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2 About the use off]

You may have difficulties to remember when to fut and not. There are basically two rules in Squeak.
You surround an expression withand] when:

o you need to execute several times the same expression. For example,

o 4 timesRepeat: [caro go: 10; turnLeft:90] repeats 4 times the messagaso
go: 10; turnLeft:90 ,

o1l to: 10 do: [:i | Transcript show: i printString ; cr] repeats ten
times the:i | Transcript show: i printString ; cr] which prints the num-

ber to the transcript.

o the expression is not always executed. For example,

o dist < 200 ifTrue: [self color: Color red] only executeself color:
Color red under certain circumstances,
o [self center y > 100] whileTrue: [self go: 10] repeats multiple times con-

ditionally bothself center y > 100 andself go: 10 ,therefore the receiver and the
argument are blocks.

3 Breaking a Loop

It is not exceptional to write endless loape.expression where the sequence of messages is continously
executed. Practically, this happens because the boolean expression never returnsvinileFafse:

and false fowhileTrue: . You can stop a loop by pressing Apple-. on Mac or Alt or Control-C on other
platform. Then to understand why the loop does terminate you can use the debugger that pops up and by
clicking its Debug button.

In fact a conditional loop can endlessly loops when the conditional messages do not perform an action
that tends towards a state that would invalidate the condition. Let us illustrate this difficult point in the case
of our example. When we look at the trace shown in the Figure 6.2 we see that the distance between the
turtle and the vertical point having 100 as y value gets smaller and smaller. In the example, to be sure that
the loop gets a chance to terminate, the second block of the loop should somehow reduce the distance.

Even if this may looks obvious the method 6.5 cannot terminate because the actions of the second
block does not tend towards negating the first block. Here, the second block increase the value of the y
coordinates, therefore the chance that the first block may evaluate to false reduces each turn. This example
is exaggerated but it illustrates clearly the problem of specifying loops that terminate.

Method 6.5

upTol00Infinite
"Make forward the receiver until its ordinates is smaller than 100"

self south.

[self center y > 100]
whileTrue: [self go: 10].

self color: Color green

When you are defining a loop always ask yourself if there is a possibility that the first test gets invali-
dated. This seems obvious but if the tests cannot be invalidated the loop will never finish.

Another Experiment. The methodwhileFalse: is symetric towhileTrue: therefore try to ex-
press the methodpTol00 but using the methodnhileFalse: . Try to make the turtle moving one
pixel by one pixel and compare the exact position where it stops.
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4 Deeper intowhileTrue:  and whileFalse:

In fact the condition does not have to only contain a boolean expression. It can contain a sequence of
messages as soon as the last conditional message returns a boolean as shown by the following template.
This allows one to express different conditional loops. Note that other programming languages do not
allow this, but provide different conditional loops.

Important Messages 6.2
[ self doThis.
anObject doThat.
self isStillWorking ] whileTrue:
[ self grumbleAndKeepOnWorking ]

Therefore we can change the methupd 0100 to be as the method 6.6. As its name tells us, while this
method looks nearly the same as thglo100 , it is different. Try to understand where is the difference.
For example, add a trace in the method 6.6 and analyze it. Note that it is equivalent to print as last expression
of the second block since the first block here does not modify anything.

Method 6.6

notTheSameUpTo100
"Make forward the receiver until its ordinates is smaller than 100"

self north.

[self go: 10.

self center y > 100]
whileTrue: [ ].

self color: Color green

As the first block is at least executed once, the main difference is that the turtle will move even if it is
already at position smaller than 100.

5 For User Input Control

Conditional loops can be used to ask some values to the user until correct values are given. In the script 5.5
if the user enters a string not representing a number, the script would detect it and ends without drawing
the stair. Now the next step is to force a user to enter a value that is a number. We can do this by using a
conditional loop that is repeatedly asking for a value if the previous value was not a number. The script 6.2
shows such a version.

Script 6.2 (Interactive stair)

| caro answer |
[ answer := (FilllnTheBlank
request: 'Number of steps’
initialAnswer: '10’).
answer isAllDigits] whileFalse: [].
caro := Turtle new.
answer asNumber timesRepeat:
[caro
go: 10 ;
north ;
go: 10 ;
east]
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6 Summary

Method Description

Execute SequenceOfMessages onlGonditionis false.

[ aCondition ] whileFalse:
[ SequenceOfMessages |

Execute SequenceOfMessages ongGonditionis true.

[ aCondition ] whileTrue:
[ SequenceOfMessages |
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Boolean and Boolean
Expressions

Conditional expressions require the notion of boolean expressienmsxpressions whose value are true or

false. In this chapter we go deeper in the notion of boolean as it is a key concept of programming languages
then show how to express boolean expressions and we also present some of the most common errors that
happen with parentheses.

1 Booleans and Booleans Expressions

Boolean expressions are expressions that return true or false values. Such values are calletidsoolean
they carexclusivelybe true or false. In programming languages booleans are important because they serve
as basis for conditional execution.

Booleans. Booleans represent true or false facts. For example, a true fact is the fa2ttais equals
to 4 or thatthe sun gets up at the east

In Squeak, booleans as everything else are objects. In fact there are two objects for representing true
and false. The objet¢tue that represents the meaning "it is true" and the olflse 2 that represents
the meaning "it is false"true is an instance of the cla§sue that defines the behavior that the object
true understanddalse is created by the clagslse that defines the behavior that the objtadse
understands. These behaviors are important because they are used to compose boolean expressions as we
show below. Note that eventifue andfalse are objects in the same sense that a turtle was created out
of the classTurtle , they are so central to Squeak tiiate andfalse are special variables. Hence,
you do not have to create them usingw, true andfalse exist and you do not have to worry about
their creation.

Boolean Expressions. Boolean expressions are expressions that manipulateand booleans. We can
think about a boolean expression as a question whose answer is true or false. The script 7.1 presents some
examples of boolean expressions and the kinds of questions they express.

1The adjectivébooleancomes from George Boole, an English mathematician of the nineteenth century. He discovered that logical
propositions could be manipulated like mathematical objects.
2pay attentiorrue  andfalse  start with a lowercase letter.
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Script 7.1 (Examples of simple boolean expressions)

Turtle new color = Color red
Is the color of a newly created turtle red?

Turtle new center = 100@100
Is a turtle located at the position 100@100?

Time now > (Time new hours: 8)
Is the time now after 8 o’clock?

b2 isOnYellow
Is the robot named b2 on a yellow tile?

b2 canMoveForward
Can the robot named b2 move forward?

| aTurtle |

aTurtle := Turtle new.

aTurtle go: 100.

(Rectangle origin: 100@200 corner: 300@400)
containsPoint: aTurtle center

Is aturtle inside the rectangle 100@200, 300@400?

Note that certain questions could be immediately answered while others require to know the context of
the boolean expression execution. Evaluate and print the results of the boolean expressions, then change
the context by modifying for example the turtle or the other participants of the boolean expressions.

The expressions presented in the script 7.1 are basic ones. It is often not sufficient and we need to
compose them by negation (not), conjunction (and), or alternative (or). These three compositions are
defined in Squeak using the messages, |, and& as shown by the following templates.

Important Messages 7.1

aBooleanExpression not
aBooleanExpression | anotherBooleanExpression
aBooleanExpression & anotherBooleanExpression

The script 7.2 presents some examples of composed boolean expressions. We detail below the main
way of composing boolean expressions.

Script 7.2 (Examples of composed boolean expressions)

(Turtle new color = Color red) not
Is the color of a turtle different than red?

| aTurtle |

aTurtle := Turtle new.

(aTurtle direction = -90) & (aTurtle direction = 90)

Is a turtle located at the position 100@100 and heading at the north?

Time now > (Time new hours: 8) | (Date today weekday = #Sunday)
Is the time now after 8 o’clock or are we Sunday?

Time now > (Time new hours: 8) | (Date today weekday = #Sunday) not
Is the time now after 8 o’clock or are we not Sunday?

Negation (not). Negation is useful to express the contrary of something. In Squeak it is based on the
messag@ot . The messagrot simply negates the boolean expression to which it is sent. In the last line
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of the script 7.3, the messaget is sent to the expressiqaTurtle color = Color red) f
such an expression is true then its negation will be false and vice versa.

Script 7.3 (Example of negation)

| aTurtle |

aTurtle := Turtle new.

aTurtle color: Color green.

(aTurtle color = Color red) not

Is the color of a turtle something else than red?

Conjunction (and). The termconjunctionliterally means together. A conjunction is used to express that

we want to know whether two boolean expressions are true. In Squeak, a conjunction is defined using the
message sent to a boolean expression with another boolean expression as argument. A conjunction is
only true when both expressions that composed it are true. In the script 7.4, the composed expression will
only be true, if(aTurtle center = 100@100) and (aTurtle direction = 90) are true
simultenaously.

Script 7.4 (Example of conjunction)

(aTurtle center = 100@100) & (aTurtle direction = 90)
Is a turtle located at the position 100@100 and heading at the north?

Alternative (or). Alternative is used to express the notion of choice. An alternative is defined using the
message sent to a boolean expression with a another boolean expression as argument. An alternative is
used to express that we want at least one of the boolean expressions to be true. Therefore a conjunction is
true as soon as one the expressions it is composed of is true.

In the script??, the composed expression is true, as soon as one of the two expregsdiarte
center = 100@100) or(aTurtle direction = 90) is true.

Script 7.5 (Example of alternative)

(aTurtle direction = -90) | (aTurtle direction = 90)
Is a turtle located at the position 100@100 or heading at the north?

The last example of script 7.2 shows that we can compose boolean expressions multiple times, negate
them, group them by alternative (or) or conjunction (and) to represent complex conditions. The following
table shows the most common boolean operations.
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[ Kind | Message | Results \
Negation not
Examples false not true
true not false
(aTurtle color = Color red) not true or
false
Conjunction | &
(and)
Examples true & true true
false & true false
true & false false
false & false false
(aTurtle center = 100@100) & (aTurtle direction true or
= 90) false
Alternative |
(or)
Examples true | true true
false | true true
true | false true
false | false false
Time now > (Time new hours: 8) | (Date today true or
weekday = #Sunday) false
Hot Pepper

true andfalse start with a lowercase letterue is created by the cla§sue that defines
all the behavior that the objettie understanddfalse is created by the clagsalse that
defines all the behavior that the objéaise understands.

The classe3rue andFalse defines the behavior such as a&d ot , |) that allows one to
compose expressions. Indeed, the result of boolean expressions is either true either false so
the messagé, not , or | are sent to the objectaue or false

Hot Pepper End

2 The Frequent Mistakes: Missing Parenthesis

It may happen that you get some trouble with the syntax of Squeak. Consider that everybody falls into this
kind of mistakes. Even confirmed programmers do. The difference between a beginner and a confirmed
programmer is not that one does mistakes and the other don’'t. The main difference is that a confirmed

programmer goes much faster to identify and fix them.

Missing parenthesis is often a source of mistakes, therefore we show you how to analyze the errors you
may get. Basically when you are composing a boolean expression you have to identify clearly to which

expression the messagest , |, and& are sent to. Let us illustrate the problem.

2.1 A Case Study.

Script 7.6 (Missing Parenthesis to Identify the receiver ofret )

Turtle new color = Color red not

The script 7.6 shows a boolean expression that fails to represent the following question: is the color of a
newly created turtle different than red (not red)?. Executing this script leads to an error because parenthesis

are missing as we will explain.
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Execute the expression describe in the script 7.6, open the debugger on the error and select the first
line in the top pane to obtain the Figure 7.1. The title window of the debugger already gives us some
information. It states that the receiver does not understand the massageNow when we select the
topmost line of the top pane we see the body of the metloesNotUnderstand: which was called
as the receiver did not understand the messege When we click onself in the left bottom pane,
we see that the receiver is not a boolean as it should be but a color! If you click aMibesage on
the right bottom pane, you will see which message was not understood as shown in the Figure 7.1. In our
case, we ged Message with a selector: #not and arguments: #() which means
that the message with the selectart did not have any arguments. This means that the messaige
has not be sent to the right receiver. The messageis sent to the result of the expressiGolor red
which is a color and does not understand the message

The reason why the messaget is sent to the expressioBolor red and not to the complete
boolean expression is related to the way Smalltalk executes expressions. First the expressions enclosed
by parentheses are executed, then the unary messages, then the binary and finally the keywords-based
messages as explained in the chapfnn our case the messaget been an unary message is evaluated
before the binary message therefore it is sent to the result of the expressBmior red . To get the
correct execution order, we have to enclose the expression in parentheses as shown in the script 7.3, this
way the messageot will be sent to the result of the message.

The script 7.7 shows how the messages are executed in the wrong expression.

Script 7.7 (How messages of the script 7.6 are executed)

The expressionTurtle new color = Color red not

is executed as it would be written fully parenthesized as follow:

(((Turtle new) color) = ((Color red) not))

Therefore first both parts of the binary methodre evaluated

((Turtle new) color) -> aColor

((Color red) not) -> (aColor not) -> error

Then the= message would be executed but the error stops the execution process.

The script 7.7 shows how the wrong expression is executed by showing how it is equivalent to the same
script fully parenthesized. Compare it with the script 7.8 which shows how the correctly parenthesized
expression is evaluated.

Script 7.8 (How messages are executed with the correct expression)

The expression( Turtle new color = Color red ) not

is executed as it would be written fully parenthesized as follow:

(((Turtle new) color) = (Color red)) not)

Therefore first both parts of the binary methodre evaluated.

Both return a color possibly equal

((Turtle new) color) -> aColor

(Color red) -> anotherColor

Then the= message is executed, i.e., send to the result of the right hand expression.
The execution of the messageeturns a boolean.

(aColor = anotherColor) not -> aBoolean not -> aBoolean

2.2 Similar Problems and Solutions

It would be boring to explain the similar problems you may encounter with the other messages&aok as
|. Try to execute the scripts 7.9 and 7.11, and to understand the problems. We show you the corresponding
correctly parenthesized scripts 7.10 and 7.12.
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» Transcript SO
Turtle new color = Color red not =
x MessageNotUnderstood: not H10
ColoriObjsct adoessNotUnderstand: =
UndefinedObject->Dolt —

Compiletr=evaluate:in:toinetifvingifFail:

[1 in TextMorphEditor (ParagraphEditor kevaluatelelection
BlockContextsonido;

TextMorphEditor (ParagraphEditor evaluateSslection

Procesd Eestart Send Step Through Full Stack Whete
\Freferences antohccessors -
and: [self tryToDefineVariablsiccess: ahlessages]) -
ifTrue: [t aldessage sentTo: selfl.,
MessagelMotUnderstood new message: ablessage,;
signal.
T aMessage sentTo: self

self = |Color red = thisContext = ia Message with selector:
all inst vars all temp var |#not and arguments: *#()
rgb ablsgsage &

cachedDepth

cachedBitPatt

Figure 7.1: The messagmt is not sent to the complete boolean expresdiartle new color =
Color red |, butsenttothe expressi@olor red which returns a color. Therefore itis not understood.

Script 7.9 (Missing Parenthesis to identify the receiver of&a)

| aTurtle |
aTurtle := Turtle new.
aTurtle center = 100@100 & aTurtle penSize = 5

Script 7.10 (dentifying the receiver of a& using parenthesis.)

| aTurtle |
aTurtle := Turtle new.
(aTurtle center = 100@100 ) & (aTurtle penSize = 5 )

Script 7.11 Missing Parenthesis to identify the receiver pj

| aTurtle |
aTurtle := Turtle new.
aTurtle center = 100@100 | aTurtle direction = 90

Script 7.12 (dentifying the receiver of using parenthesis.)

| aTurtle |
aTurtle := Turtle new.
(aTurtle center = 100@100) | (aTurtle direction = 90)
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3 Lazy Boolean Methods

For completeness we show you now a particular aspects of boolean methods in Smalltalk. In a first reading,
we suggest you to skip this part.

In Smalltalk, booleans offers another kind of conjunction and alternative metouils and or:
calledlazyones. They are called lazy because they only evaluate their argument if required. The lazy and
(and: ) only evaluates its argument if the receiver is true. The lazpor § only evaluates its argument if
its receiver is false. The arguments of these lazy methods are expressed as block which this way defer their
evaluation.

The following examples illustrate the difference between lazy and non lazy messages. In the following
example, the first expressi¢h=2) , the receiver of the messagad: is false because 1 is not equals to
2, so the argument is not evaluated because the two conditions will never be true together regardless the
value of the argument. Therefore it does not raise a division by zero. In the second examplagbsage
evaluates both the receiver and the argument automatically regardless the receiver value so the division by
zero raises an error. The third example raises an error because the receiver is true and we have to evaluate
the argument to determine the value of the composed expression.

(1=2) and: [10 / O]
Does not raise a division by zero error because the receiver is false so the conjunction will never be true there-
fore there is no need to evaluate the argument.

(1=2) & (10 / 0)
Raise a division by zero error.

(1=1) and: [10 / O]
Raise a division by zero error because 1=1 is true and the second condition is evaluated.

Important Messages 7.2

aBooleanExpression and: [ anotherBooleanExpression ]

Similarly for the lazyor: , one does not need to evaluate the second condition if the receiver is true.
Therefore, the first example does not raise an error because the receiver is true. In the secondiéxample
evaluates the receiver and the argument regardless the value of the receiver, so an error is raised. In the
third example, the receiver is false so we need to evaluate the argument to get the value of the composed
expression. So an error is raised.

(1=1) or: [10 / Q]
Does not raise a division by zero error because the receiver is true and there is no need to evaluate the ar-
gument as at least one true is enough for an alternative to be true.

(1=1) | (10 / 0)
Raise a division by zero error.

(1=2) or: [10 / Q]
Raise a division by zero error.

Important Messages 7.3

aBooleanExpression or: [ anotherBooleanExpression ]

Lazy messages are interesting because they allow one to express conditions in easier way. The second
condition does not have to be valid all the time. Moreover, they are useful to avoid to compute unnecessary
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computation and are good to optimizing conditions. The metitordainsPoint:  aPoint defined
for rectangles illustrates this behavior. This method determines whether a rectangle contains a point.

Method 7.1

Rectangle>>containsPoint: aPoint
"Answer whether aPoint is within the receiver."

~origin <= aPoint and: [aPoint < corner]

If the origin (the topleft corner) of the rectangle is bigger than the point, there is no point to check
whether the point is smaller that the rectangle corner (bottom right corner).

4 Summary

Booleans are true or false.
Booleans expressions are expression that manipulate booleans and whose values are booleans.
Complex boolean expressions can be composed of simple boolean expressions using conjunction (and),
alternative (or), and negation (not).

[ Kind | Message | Results \
Negation not
Examples false not true
true not false
(aTurtle color = Color red) not true or
false
Conjunction | &
(and)
Examples true & true true
false & true false
true & false false
false & false false
(aTurtle center = 100@100) & (aTurtle direction true or
= 90) false
Alternative |
(or)
Examples true | true true
false | true true
true | false true
false | false false
Time now > (Time new hours: 8) | (Date today true or
weekday = #Sunday) false




3

Various Points about
Conditions

In this chapter we present some extra points about conditional such as how to use conditional to debug your
code. The material presented here is more advanced and can be skip in a first reading.

1 Debugging using Conditional

Often one would like to check whether a conditional code has been executed. One way to do that is to insert
expression such a&anscript show: 'l pass there’ ; cr. . Another approach is to insert

self halt that when executed opens a debugger. A third way is insert some messages that produce
sounds.

Script 8.1 (Only clink)

| caro |

caro := Turtle new.

caro distanceDetector.

caro color = Color red
ifTrue: [Smalltalk beep].

caro jump: 250.

caro distanceDetector.

caro color = Color green
ifTrue: [Smalltalk beep].

Another interesting use of conditional is to specify conditional breakpoints. For example, when we want
to stop when a loop arrives at a given point we just have to include an expression similgEtmdition
ifTrue: [self halt]

An interesting way to have a conditional stop of a program execution is to check when certain keys are
pressed such as control or shift. The expresbipatSensor default shiftPressed ifTrue:
[self halt] only opens a debugger when the shift key is pressed. TheldastSensor  defines
other messages such esmmandKeyPressed , controlKeyPressed , or anyButtonPressed
that can be used to define conditional break points.

2 Tricky Aspects of Parenthesis

It may happen that you get some trouble with the syntax when using the meffhoats: and its
companion methodg$False: , ifTrue:ifFalse: , andifFalse:ifTrue: . Indeed you have to
take care that the the boolean expression may be parenthesed.

In the script??there is no problem because the expression used in the boolean exprEss@mow
> (Time new hours: 8) are not keywords messages, so they are evaluated prior tid the:
that is executed if the result of the expression is true.
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¥ Transcript mo
| aRect aTurtle |
aTurtle := Turtle new,
aRect 1= Eectangle origin: 100@200 corner: 300@400,
aRect containsPoint: aTurtle center

ifTrue: [Smalltalk teep]

rUnknown zelector, please |
confirm, <orrect, or cancel
containsPoint:if True:
containsPointievent:
cofitainsAtributeof Type:
cotitainOnlvOops and:
hazlnterned:if True:
scopeHaziif True:
lenientScopeHas if True:
cottextiizolationHead:
contentsiwithMarkers:
cotitents0f Areatifto!
contextStackEey:from:
Lcancel

Figure 8.1: The environment is trying to recover an error due to missing parenthesis. The message is not
containsPoint:ifTrue: and the boolean expression containing the messagtinsPoint:
should be enclosed by parentheses.

In the script 8.2 the boolean expression uses a keyword messagainsPoint: , which has the
same weighthan theifTrue: message. So the boolean expression will not be evaluated first as the
system believes that the message is in fact nacvedainsPoint:ifTrue: . To disambigate this

situation parenthesis are required as shown in the script 8.2.

Script 8.2 (Conditional Requiring Parenthesis)

| aRect aTurtle |
aTurtle := Turtle new.
aRect := Rectangle origin: 100@200 corner: 300@400.
(aRect containsPoint: aTurtle center )
ifTrue: [Smalltalk beep]

Important!

Surround boolean expressions with parenthesis when they
contain keyword based messages to avoid message ambiguit
ties

3 Factoring Commonalities

As we already mentioned it, duplicated logic is not a sign for potential improvements. The method
distanceDetector exhibits some duplicated logic in each branch of the condiielf color:
. Here the duplication is not severe but we use this method as a pretext to illustrate our point.
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Method 8.1

distanceDetector

| dist aColor|
dist := self distanceFrom: World bounds center.
dist > 300
ifTrue: [ self color: Color green]
ifFalse: [dist < 200
ifTrue: [self color: Color red]
ifFalse: [self color: Color yellow]]

Let us start by factoring commonalities out of the conditions. As we mentioned earlier, the code in the
conditions does not have to be the same. The script 8.2 shows an equivalent version in which the expression
self color: has been factored out of the condition. In this new version the conditional code returns
the new color. The final line changes the receiver color using the selected color. This way is it easier to
apply a consistent manipulation to the color such as darkening it.

Method 8.2

distanceDetector

| dist aColor|
dist := self distanceFrom: World bounds center.
aColor := dist > 300
ifTrue: [Color green]
ifFalse: [dist < 200
ifTrue: [Color red]
ifFalse: [Color yellow]].
self color: aColor

4 About Method Returns

When a return statemerit,anExpression , is encountered, the execution of the method is terminated
and the result of the expression following the return is returned to the caller of the method. No other piece
of code is executed in the method containing the return statement. This behavior can be used to write
condition is a different way. The method 8.3 shows the method 5.9 using explicit return. Here as soon as
a boolean expression is true, the return statement is execietgts, expression is executed and the rest of

the method is skipped.

Method 8.3

coloredTurn: anAngle
"change the color of the turtle so that it is blue aiming
at the north and red to the south”

self turn: anAngle.
self direction = 90

ifTrue: [* self color: Color blue].
self direction = -90

ifTrue: [* self color: Color red].
self color: Color green]

Note that per default in Squeak, a method returns its receiver, even if the code does not show it as shown
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by the method 8.4 which is then equivalent to the method 8.5.
Method 8.4

doSomething

Transcript show: 'doSomething’ ; cr.

Method 8.5

doSomething

Transcript show: 'doSomething’ ; cr.
A self

5 About Code Formatting

In Smalltalk, the code can be layouted in all kind of ways and the indentation (its shape regardings the
left margin) has no semantics. However, using a clear indentation really helps the reader to understand the
code. We suggest to follow the convention we chose to foiffiaie:ifFalse: expressions.

Again, the idea is that the block of expressions delimited by the charqcserd] should form a visual
and textual rectangle. First the boolean expression is always on one line and the keywords are always
indented on the next line. Then when the block fits into a single line we just put it aftéTtoe:
or ifFalse: keyword to gain vertical space and we close the block with| tla the end of the line as
follow:

self direction = 90
ifTrue: [self color: Color blue]

When the block cannot stand on one single line, we apply the same strategy tirae&iRepeat:
We start the block witli on the next line and align all the expressions inside the block to one tab and finish
by] that indicates that the block ends as follows:

dist < 200
ifTrue: [self color: Color red.
Transcript show: 'red’ ; cr]
ifFalse: [self color: Color green
Transcript show: ’'green’ ; cr]



9
A Quick Look at

Recursion

Recursive — Adj. Quality of something that is partly defined in terms of itself.
See recursive

Once we have conditionals we can expressirsivemethodsj.e,methods that are partly expressed in
terms of themselves. Recursive methods allows one to write extremely powerful algorithm in an elegant
way. In this chapter we simply show you the main principle without into the details.

1 Picking Diamonds

Let us start with the following problem. Imagine we want to pick all the diamonds in the direction to which
the robot is pointing at.
Now we can express

Method 9.1

In category recursion
Bot>>pickLine

self canMoveForward

ifTrue:
[self safePick.
self go.

self pickLine]

How does it work? In fact writing recursive method is natural and simple. Writing recursive methods
that do not loop endlessly is more complex. Let us look how this is working.

1. the method is invoked,

2. the condition is executed,

3. when the condition value is false the method terminates.
4

. when the condition is true, the conditional messages are executed one by one, when the method
pickLine is invoked the process starts as mentioned to the point 1.

The key point when defining a recursive method is to always check that the method contains at least
one case that is not calling the method again. Here the non recursive part is implicit as we used the method
ifTrue: , when the condition is false the conditional messages are not executed anymore and the method
pickLine is not recursively invoked.

The second point is, as with conditional loops, that the recursive part of the method should somehow
tend toward stopping the recursive calls. Here the fact that the area is bounded and that the bot moves
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always one step in the same direction ensure that at one point we are sure that the bot will not be able to
move further.

The third point that will be shown in the section 5 is that a typical recursive method builds its result by
composing the partial results obtained by recursive calls.

2 Learning from Error

While writing for the first time the method pickLine, we did a mistake, we forgot the expressibn
go. Can you imagine what was the result?

The robot could move so the methcahMoveForward was true. Therefore the conditional messages
were executed. A diamond was picked up if possible and then the mpitiddne  was called again.
So we ended up in an endless loop.

What can we learned from this bug? An essential point, a recursive method have to always tend towards
its non recursive part. This means that if we want that the method stops as it should, we should at least give
me that chance to stop. When you are writing a recursive method always have in mind that you should (1)
have a non recursive part, here the fact that we have a ifTrue: means that when the robot cannot move we
will not be in the recursive part anymore, and (2) you should tend toward it, here we expect that by moving
the bot forward it will end up bumping into the limits of its world and this will lead to executing the non
recursive part, here doing nothing and ending the execution.

In fact the methogbickLine is not working completely well as it will not pick a diamond that is just
near a brick or near the limit of the world. First explain why by showing step by step why this situation
occurs. Second propose a solution to this problem.

In fact picking a diamond can be done all the time therefore it does not require to only be executed
within the conditional expression. The following method is

Method 9.2

Bot>>pickLine

self safePick.
self canMoveForward
ifTrue:
[self go.
self pickLine]

The methodandomDirection shows another recursive method. The method tries to find a new
direction,i.e.,a point composed by -1, 0, or 1 with the extra constraint that x*y should always be equal to
0. When it did not find a point satisfying the constraint it just retries invoking itself. This behavior could
be implemented using a conditional loops. Try to do it.

Method 9.3

Bot>>randomDirection
"return a random direction i.e. a point composed by -1,0, or 1
with the constraint that x * y should always be = to 0"

3 atRandom - 2.
3 atRandom - 2.
(x * y) isZero
ifTrue: [X @ V]
ifFalse: [self randomDirection]

Xy |

|
X
y
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3 Fun with Recursion

In this section we want to show you how to define intrigring curves, fractal curves whose definition is
recursive. The idea of a fractal curve is to define (part of it) using its definition. Let us start to try to find
the definition of the method that can draw the pictures shown in the Figure 9.1.

Figure 9.1: Thepic:n:  withn=1, 2, 3, and 4.

The idea is that we take a single line, cut it in three equal parts and replace the middle segment by a
shape, here simply two lines. Then we apply the same principle on the all the segments we create. We
obtain the drawings shown in the Figure 9.1.

Let us start with a non recursive method. The methmd shown hereafter 9.4 draws the second
picture from the left in Figure 9.1: it replaces the middle segment of a line based on three segments by a
simple shape, here a triangle.

Method 9.4

Turtle>>pic: size
"self new north; pic: 200"

| segSize |

segSize = size / 3.
self go: segSize.
self turnLeft: 45.
self go: segSize.
self turnRight: 90.
self go: segSize.
self turnLeft: 45.
self go: segSize

Note that we could have payed attention that the basis of the triangle would measure exactly a third of
the original line but this does not change anything to what we want to show you and we suggest you to
do it. Now we want to operate the same on each segments therefore we replace all thegwiginalls
by a call to the recursive method we are defining, we name itpicRec: to make it explicit and we
obtained the method not working yet described in method 9.5.

Can you explain why this method is not working?
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Method 9.5

Turtle>>picRec: size
"Turtle clearWorld. self new north; picRec: 200 ; belnvisible"

| segSize |
segSize := size / 3.

self
self
self
self
self
self
self

picRec: segSize.

turnLeft: 45.

picRec: segSize.

turnRight: 90.

picRec: segSize.

turnLeft: 45.

picRec:

segSize

There are two questions that this method should raise:

o How can it stop? Indeed there is no condition to stop the infinite recursive, eacpitRec: is
executed it has no alternative except to invoke itself infinitively.

o Where the job is done? Even if the method would contain a non recursive call. There should be a

place where the line should be drawn.

Even if these two questions are quite rudimentary, every recursive method should provide an answer
to have a chance to work. The final version of the metpimiRec: (method 9.6) first contains a non
recursive branch, a reasonable condition as the length of the drawn segment is regularly divided, and a

place where the curve is drawn.

What is worth to realize is that this method is only drawing from a single @atfego: size
while all the other invocations only modify the parameters and define a different execution contexts such

as changing the direction of the turtle.

Method 9.6

Turtle>>picRec: size
"Turtle clearWorld. self new north; picRec: 200 ; belnvisible"

| segSize |
size < 10
ifTrue: [self go: size]

ifFalse:

[segSize := size / 3.

self
self
self
self
self
self
self

picRec: segSize.
turnLeft: 45.
picRec: segSize.
turnRight: 90.
picRec: segSize.
turnLeft: 45.
picRec: segSize]

Do the following experimentations:

o Replace some recursive callsgizRec:
o Putaself halt

but non after.

o Change the condition to understand.

by go: and understand the result.

in the middle to see that the all the recursive calls before the breakpoint are drwan

To let you better experiment with the concept of recursive method, we replace the cosiditor
10 by an explicit counter as done in the methmdRec:n:  (method 9.7). Here the condition is now
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checking the value of the extra argument n which controls the number of times the recursive call will be

applied.

Method 9.7
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Figure 9.2: Four dragons filling the space produced by the script 9.1.

Turtle>>picRec:

size n: n

"Turtle clearWorld. self new

| segSize |
n=1

ifTrue: [self go: size]

ifFalse:

[segSize

self
self
self
self
self
self
self

picRec: segSize
turnLeft: 45.
picRec: segSize
turnRight: 90.
picRec: segSize
turnLeft: 45.
picRec: segSize

= size / 3.

north; picRec: 200 n: 1 ; belnvisible"

1

The dragon is a classic curve. Itis a space filling self avoiding cuev#hat it fills space but without
crossing its one path. We do not want to go into the details and let you discover its definition shown in the
method 9.8. The Figure 9.2 results from the script 9.1.
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Method 9.8

Turtle>>dragon: n
"Turtle new dragon: 8"
"Draw a dragon curve of order n"

n=20
ifTrue: [self go: 5]
ifFalse:
[n>0
ifTrue:
[self dragon: n - 1;
turn: 90;
dragon: 1 - n]
ifFalse:
[self dragon: -1 - n;

turn: -90;
dragon: 1 + nJ

The definition of the dragon curve shows how complex it can be to prove that the non recursive part of
the definition. Here the conditiom = O is not simply reached. Indeed when called n is positive and the
first recursive calldragon: n-1 ) decreases n which is going in the right direction. However the other
recursive calls increase or negate the value of n. Still the recursive definition terminates. It should be noted
that this curve definition is particularly complex.

Script 9.1 (Creating the Figure 9.2)

|colors|

Turtle clearWorld.

colors := Color wheel: 4.

1 to: 4 do: [:i |

Turtle new

penColor: (colors at: i) ;
turn: 90*; dragon: 10 ;
belnvisible]

4 About Keeping Context

Now we propose you to define a method that draws tree, regularl and unrealistic trees but trees as shown
in the Figure 9.3. With this problem we illustrate the fact sometimes we need a way to reset the context of
execution before performing a recursive call. Let us start!

The principle is the following one: to draw a tree, we draw one segment then we turn and draw a
smaller tree, turn again, and draw another smaller tree. We follow this principle for the number of levels
expected. From this principle we define the metpaht:level: as shown in method 9.9 where the
level specifies the number of segments compose one branch (from the root to one leaf).
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A Ak

Figure 9.3: Some trees at different growing stages.

Method 9.9

Turtle>>tree: size level: n
"Turtle clearWorld. Turtle new north; tree: 200 level: 1;
belnvisible"

n isZero
ifFalse:
[self go: size / 2.
self turnLeft: 45.
self tree: size / 2 level: n - 1.
self turnRight: 90.
self tree: size / 2 level: n - 1]

The definition of the methogdlant:level: answers the two questions we enonced for the method
picRec: . There is a non-recursive part, here when the condition is.gye is equal to zero then nothing
is executed and the method terminates. There is also a part of the method drawing the expedfssion
go: size /2 . Finally, the argument on which is built the condition is decreased so we are sure that at
one point in time the condition will be true and that the recursion will stop. Executing the method with n =
1 works well. However, with n=2 we end up with the second drawing of the Figure 9.5 and not the third as
we were expecting it.

Can you understand why? Step the execution of the me3satge new tree: 200 level:
2. Have you noticed that the first branch is drawn correctly? Comment the second invocatenlével:
to see it. What are the position and the direction of the turtle just before the second recursive call?

The problem with the current definition pfant:level: is that after the first recursive invocation,
the turtle is not at right place ready to perform again the second recursion. Put a breakpoint to stop the
execution as shown in the method 9.10 to obtain the same situation as the one illustrated in theFigure
Imagine a solution to solve this problem.
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Figure 9.4: Trying to produce a tree.

Method 9.10

Turtle>>tree: size level: n
"Turtle clearWorld. Turtle new north; tree: 200 level: 1;
belnvisible"

n isZero
ifFalse:
[self go: size / 2.
self turnLeft: 45.
self tree: size / 2 level: n - 1.
self halt.
self turnRight: 90.
self tree: size / 2 level: n - 1]

»
Froceed

TurtleiObject :halt
Turtlesplant:nutmnbser:
Turtles:plant number:
Turtlesplant:nutmnbser:

Turtle class:Dolt
Compilets=evaluatein:tonotii
[] in TextMorphEditoriParag

Figure 9.5: Stopping the method execution just after the first recursive invocation as described in the
method 9.10.
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This is a bit vicious. We cannaimplymove back the turtle at its starting position after the first call is
terminated because it depends on the number of levels it already drew. Still there is one solution which is
to store the position of the turtle and its direction before invoking the method and restoring this state after.
This is what the method 9.11 does. The varialpes anddir for every call ensures that the turtle is in
the right position and heading to draw the second tree.

Method 9.11

Turtle>>tree: size level: n
"Turtle clearWorld. Turtle new north; tree: 200 level: 3;
belnvisible "

| pos dir |
n isZero
ifFalse:
[self go: size / 2.
self turnLeft: 45.
pos := self center.
dir := self direction.
self tree: size / 2 level: n - 1.
self center: pos.
self direction: dir.
self turnRight: 90.
self tree: size / 2 level: n - 1]

5 A more Traditional View on Recursion

Recursion has been a way to define suite of numbers for centuries. It is interesting to look at them, as they
present a simple context to understand how a result is defined out of results obtained from recursive calls
on smaller entities. We have a look at factorial and fibbonacci.

5.1 Factorial

Factorial is a classical mathematical function to present recursion. The mathematical definition of factorial
is!n = nxl(n —1),10 = 1. We consider that for negative numbers, In = 1, even if the mathematical
function does not allow this for simplicity.

Method 9.12

Integer>>factorial
"Answer the factorial of the receiver."

N self <= 0
ifTrue: [1]
ifFalse: [self * (self - 1) factorial]

What is interesting with this definition is that the result of the factori@omposed othe factorial of
a smaller elements. In particular, the computing the final result requires a sub computation to be computed

1. the method is invoked,
2. the condition is executed,

3. when the condition value is true, the method terminates and returns 1.
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4. when the condition is false, the conditional messages are executed one ¥gibnré, is executed,
to its result factorial is again invoked, which is similar to the point 1. The gelft *  is “waiting”
so that the sub call terminates by returning a value.

factorial

factorial

* 3 factorial

2 factorial
3 * 2 * 1 factorial
3*2*1* 0 factorial
3 *2*1* 1
3 *2*
3 *

*
w
*

1
2

L S T R T I )
L T I

NPRRRARRAEAAAAEAL

PO ag o g oo a
i

N
o

Compare the first definition d&ctorial with the following one and make sure you understand their
differences.

Method 9.13

Integer>>factorial
"Answer the factorial of the receiver."

self = O ifTrue: [* 1].
self > 0 ifTrue: [ self * (self - 1) factorial].
self error: 'Not valid for negative integers’

Factorial is a really simple function that can also be defined using a simple loops. Try to define it
without using recursion.

5.2 Fibbonacci

Another well-know suite is the Fibbonacci suite. This suite is present in the plant or shell growth. Here
it shows that a recursive method does not have to only call once itself but can do it several times as the
dragon curve and the plant drawings where doing it.

The fibbonacci suite is defined as followib(0) = 1, fib(1) = 1, fib(n) = fib(n — 1) + fib(n — 2)
which can be directly defined as shown by the method 9.14

Method 9.14

Integer>>fib

N oself < 2
ifTrue: [1]
ifFalse: [(self - 1) fib + (self - 2) fib]

The following trace shows how the value of the expres&ofib is computed, each recursive part
is computed by summing two recursive sub computations which eventually ends on the non-recursive part

fib(1)andfib(0).
fib
(4 fib + 3 fib)

(3 fib + 2 fib) + (2 fib + 1 fib))
(2 fib + 1 fib) + (1 fib + 0 fib)) + (1 fib + 0 fib) + 1)

(€3]
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(((@ fib + 0 fib) + 1) + 1 + 1) + (1 +1) + 1)
(r+1)+1)+2 + 2+ 1)

(2 + 1) +2 +3)

(3 +2) + 3

5 + 3)

8

6 A Subtle Difference

In this section we want to show you a subtle difference between different form of recursion. In a first
reading you can skip this part that we consider advanced for this book.
Often the result of a recursive call is used in a computation as this is the case in factorial. For example

for computing5 factorial we need to use the result df factorial which needs the result of
3 factorial and so on untiD factorial simply returns 1. We marked in bold when the method
returns a result.

5 factorial

5 * 4 factorial

5 * 4 * 3 factorial

5* 4 * 3 * 2 factorial

5* 4 *3* 2 * 1 factorial

5*4*3*2*1*0 factorial

5*4*3*2*1* 1

5*4*3*2* 1

5*4*3* 2

5*4* 6

5* 24

120

Contrary to the other examples we show so far, this form of recursion requires to combine the results
of the recursion to produce the end results. The idea is that the result on the parts should be composed to
produce the result of the whole. When programming complex recursive function this composition is the
key point because we need to combine partial result to produce the complete result. With factorial this is
just a multiplication but it is often more complex.

While the computation is been performed, the memory of the computer is used to keep the rest of the
computation. For example, the fact tHatfactorial leads to comput® * 4 * 3 factorial
is kept in memory while3 factorial is computed. We say that the stack grows as we are adding
new computation to be finished on the stack. WBefactorial terminates, the stacks of unfinished
computation is popped. Once the computation of 3 factorial terminate4, thean be done and so on.

However recursive computation expressed this way are limited by the memory of the computer avail-
able. Quickly the computer memory can be filled up by all these computation suspended. However, the
same recursive computation can be expressed differently without requiring to extra memory.

The idea is to use a parameter that acts as an accumulator in which intermediate results are passed from
one invocation to the other. We define the metfext that invokes a nevfactorial: method that
has an extra parameter.

Method 9.15

Integer>>fact
"Answer the factorial of the receiver."

self = 0
ifTrue: [* 1].
A self factorialHelper: 1
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Method 9.16

Integer>>factorial: res

N oself <= 0
ifTrue: [ res]
ifFalse: [self - 1 factorial: res * self]

The following trace shows how the computation evolves. Over times the argument contains the results
of the intermediate computation and at the end is returned as result of the complete computation.

5 fact

5 factorial: 1
4 factorial: 5
3 factorial: 20
2 factorial: 60
1 factorial: 120
120

As the trace shows it there is no computation pending, all the computation is done during each recursive
call. Hence there is no need for extra memory to keep the pending computation. This kind of recursion is
called tail-recursive to denote the fact that there is no computation required after.

Do you guess the result &f fact when we change the conditieelf <= 0 byself <0

To help you to understand how this works introduce a trace as follow.

Method 9.17

factorial: res

self = 0
ifTrue: [ res].
self > 0
ifTrue: [Transcript show: self printString , ' res ' , res printString;
Cr.
AN self - 1 factorial: res * self]

7 Summary

recursive



